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�p �a �y �m�e �n�t �s� �( �L �D �P�s�)�,� �d�i�r �e �c�t� �p �a �y �m�e �n�t �s� �( �D �P�)�,� �a �n �d� �c �o �u �n�t �e�r�- �c �y �c�l�i �c �a�l� �p �a �y �m�e �n�t �s�.� � �C�r �o �p� �i �n�s �u�r �a �n �c �e� 

�( �A �P �H�)� �i �n �d �e �m �n�i�t �y� �p �a �y �m�e �n�t �s� �a�r �e� �m �o �d �e�l �e �d� �u�s�i �n �g� �t �h �e� �p �a�r �a �m�e�t �e�r �s� �o �u�t�l�i �n �e �d� �b �y� �t �h �e� �F �a�r �m� 

�S �e �c �u�r�i�t �y� �a �n �d� �R �u�r �a�l� �I �n �v �e�s�t �m �e �n�t� �A �c�t� �o�f� �2 �0 �0 �2� �a�s� �s �e �e �n� �i �n� �T �a �b�l �e� �4�. �1�.� 

�T �h �e� �f�i�r �s�t� �p �a �y �m�e �n�t� �s�i �m �u�l �a�t �e �d� �i�s� �t �h �e� �l �o �a �n� �d �e�f�i �c�i �e �n �c �y� �p �a �y �m�e �n�t�.� 

�L �D �P�i� �=� �f�i� 
�y� �×� �m �a �x�( �0�,� �L �R�i� "�� �M �Y �A�i� �)� �( �4�- �4�) � 

�w �h �e�r �e�:

� �L �D �P �i� �=� � �f �a�r �m�-�l �e �v �e�l� �l �o �a �n� �d �e�f�i �c�i �e �n �c �y� �p �a �y �m�e �n�t� �f �o�r� �c�r �o �p� �i� 

�L �R�i� �=� � �l �o �a �n� �r �a�t �e� �f �o�r� �c�r �o �p� �i

� �M �Y �A �i� �=� � �m �a�r �k �e�t� �y �e �a�r� �a �v �e�r �a �g �e� �p�r�i �c �e� �f �o�r� �c�r �o �p� �i� 

�T �h�i�s� �s�i �m �u�l �a�t�i �o �n� �m �o �d �e�l� �i�s� �n �o�t� �a� �c �o �n�t�i �n �u �o �u�s�-�t�i �m �e� �m �o �d �e�l� �t �h �a�t� �a�l�l �o �w�s� �a� �p�r �o �d �u �c �e�r� �t �o� �“�l �o �c �k� �i �n �”� 

�L �D �P� �p �a �y �m�e �n�t �s� �d �u�r�i �n �g� �a� �w�i �n �d �o �w� �o�f� �h�i�s� �o�r� �h �e�r� �c �h �o �o�s�i �n �g�.� � �R �a�t �h �e�r� �t �h �e� �m �o �d �e�l� �a�s�s �u �m�e�s� �t �h �a�t� 

�t �h �e� �L �D �P� �v �a�l �u �e� �i�s� �d �e�t �e�r �m�i �n �e �d� �a�t� �t �h �e� �h �a�r �v �e�s�t�-�t�i �m�e� �p�r�i �c �e�.� � �A� �w�i �d �e�r� �e �x �e�r �c�i�s �e� �w�i �n �d �o �w� �e �x�i�s�t �s� 

�u �n �d �e�r� �e�f�f�i �c�i �e �n�t� �m�a�r �k �e�t �s�,� �b �u�t� �p�r�i �c �e� �d �y �n �a �m�i �c �s� �a�l�s �o� �s �u �g �g �e�s�t� �h �a�r �v �e�s�t� �p�r�i �c �e�s� �t �e �n �d� �t �o� �b �e� �t �h �e� 

�l �o �w �e�s�t� �c �a�s �h� �p�r�i �c �e� �f �o�r� �t �h �e� �y �e �a�r� �( �H �o�f�s�t�r �a �n �d�)�.� � �U�l�t�i �m �a�t �e�l �y�,� �c �o �n�t�i �n �u �o �u�s�-�t�i �m �e� �m �o �d �e�l�i �n �g� �w �o �u�l �d� 

�a �d �d� �s�i �g �n�i�f�i �c �a �n�t� �c �o �m �p�l �e �x�i�t �y� �t �o� �t �h �e� �m �o �d �e�l�.� 

�T �h �e� �m �o �d �e�l� �n �e �x�t� �s�i �m �u�l �a�t �e�s� �d�i�r �e �c�t� �p �a �y �m�e �n�t �s�,� �w �h�i �c �h�,� �a�l �o �n �g� �w�i�t �h� �o�t �h �e�r� �p�r �o �g�r �a �m�s�,� 

�r �e �q �u�i�r �e� �t �h �e� �c�r �e �a�t�i �o �n� �o�f� �a� �b �a�s �e� �a �c�r �e�s� �d �a�t �a� �s �e�t�.� � �T �h�i�s� �i �n�f �o�r �m�a�t�i �o �n� �w �a�s� �r �e�t�r�i �e �v �e �d� �f�r �o �m� 

�U �S �D �A�’�s� �E �c �o �n �o �m�i �c� �R �e�s �e �a�r �c �h� �S �e�r �v�i �c �e�s� �( �E �R �S�)�.� � �T �h �e�s �e� �r �e �c �o�r �d�s� �p�r �o �v�i �d �e� �t �h �e� �u �p �d �a�t �e �d� �2 �0 �0 �2� 

�b �a�s �e� �a �c�r �e�s� �e �n�r �o�l�l �e �d� �i �n� �g �o �v �e�r �n �m�e �n�t� �p �a �y �m�e �n�t� �p�r �o �g�r �a �m�s�.� 

�F �a�r �m�-�l �e �v �e�l� �p�l �a �n�t �e �d� �a �c�r �e�s� �r �e �c �o�r �d�s� �a�r �e� �n �o�t� �a �v �a�i�l �a �b�l �e�;� �t �h �e�r �e�f �o�r �e� �a� �c �o �u �n�t �y� �p �a �y �m�e �n�t� �i�s� �t �h �e� �o �n�l �y� 

�a �v �a�i�l �a �b�l �e� �i �n�f �o�r �m �a�t�i �o �n� �f �o�r� �d�i�r �e �c�t� �p �a �y �m�e �n�t �s�.� � �T �h �e� �f �o�r �m �u�l �a� �u�s �e �d� �t �o� �c �a�l �c �u�l �a�t �e� �t �h �e� �c �o �u �n�t �y�-�l �e �v �e�l� 

�d�i�r �e �c�t� �p �a �y �m�e �n�t� �D �P�i� �f �o�r� �c�r �o �p� �i� �i�s�:� 

�2 �5� 



 

  

  
 

  
 

 
 

  
  

 
  

  
 

 
  

  
 

 
  

  
  

 

Table 4.1 

Simulation parameters for NCGA, USDA, and Revenue Wrap proposals 

 Corn Cotton Soybeans 
Beginning Expected Price 2.40 0.58 6.25 

APH Coverage Level 0.65 0.65 0.70 
MPCI Subsidy Factor 0.59 0.59 0.59 
Loan Rate 1.95 0.52 5.00 
Target Price 2.63 0.724 5.80 
Direct Payment Yield Ratio 0.76 0.88 0.76 
Direct Payment Rate 0.28 0.0667 0.44 
Direct Payment Percentage 0.85 0.85 0.85 
CCP Percentage 0.85 0.85 0.85 
CCP Yield Ratio 0.85 0.90 0.84 

BRP Coverage Level 0.70 0.70 0.70 
RCCP Coverage Level 1.00 1.00 1.00 

USDA Loan Rate 1.89 0.457 4.92 
USDA Direct Payment Rate 0.28 0.1108 0.47 
CCP Base Acres yield 114.3 638.9 34.1 
GRP Subsidy Factor 0.55 0.55 0.55 
GRP Coverage Level 0.90 0.90 0.90 
GRP Floor Level 0.70 0.70 0.70 

CRC Wrap Tier 1 0.65 0.65 0.65 
CRC Wrap Tier 2 0.95 0.95 0.95 
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y R  PD P i = D P i × D P i × D P i × B A i  ( 4- 5)  

w h er e: 

D P i 
y =  dir e ct p a y m e nt yi el d f or cr o p i 

D P i 
R =  dir e ct p a y m e nt r at e f or cr o p i 

D P i 
P =  dir e ct p a y m e nt p er c e nt a g e f or cr o p i 

B A i =  b a s e a cr es f or cr o p i 

A ct u al D P i 
y  is n ot a v ail a bl e f or all f ar ms r e pr es e nt e d.  T o c o m p e ns at e f or t h e l a c k of d at a 

a v ail a bilit y, t h e f oll o wi n g f or m ul a w as us e d: 

y y 0 6 R TD P = f� × D P  ( 4- 6)  i i i 

w h er e: 

i� y 0 6fi =  si m ul at e d f ar m yi el d f or 2 0 0 6 f or cr o p 

D P i 
R T 

=  dir e ct p a y m e nt r ati o f or cr o p i 

T h e dir e ct p a y m e nt r ati o w as c al c ul at e d b y t a ki n g t h e U S D A- F ar m S er vi c e A g e n c y 

( F S A) n ati o n al a v er a g e pr o gr a m yi el d di vi d e d b y t h e e x p e ct e d 2 0 0 6 cr o p yi el d.  T h e 

r es ult s ar e pr es e nt e d i n T a bl e 4. 1.  T h e c o u nt er- c y cli c al p a y m e nt is c al c ul at e d as 

y R pC C P = (C C P × (T P − D P )) − m a x( L R , M Y A )) × B A × C C P  ( 4- 7)  i i i i i i i i 

w h er e: 

C C P i =  c o u nt er- c y cli c al c o u nt y-l e v el p a y m e nt f or cr o p i 

C C P i 
y =  c o u nt er- c y cli c al p a y m e nt r ati o f or cr o p i 

T P i =  C C P t ar g et pri c e f or cr o p i 

2 7 



    

 

  

      

  

 

 

    

  

     

    

  

            

    

     

     

 

   

  

 
 
 

C C P i 
p =  C C P p a y m e nt p er c e nt a g e f or cr o p i 

T h e m et h o d us e d f or c al c ul ati n g D P i 
y  w as als o us e d f or c al c ul ati n g C C P i 

y .  T h e C C P 

us es a n eff e cti v e t ar g et pri c e.  T h e eff e cti v e t ar g et pri c e is c al c ul at e d b y t a ki n g t h e T P 

d efi n e d i n t h e 2 0 0 2 F ar m Bill, v al u e s c a n b e s e e n i n T a bl e 4. 1, a n d s u btr a cti n g t h e dir e ct 

p a y m e nt r at e t h at w as pr e vi o usl y d efi n e d.  T h e A ct u al Pr o d u cti o n Hist or y ( A P H) 

i ns ur a n c e i n d e m nit y p a y m e nt is c al c ul at e d usi n g t h e f or m ul a  

C L  y y S U B pA P H = E P *  m a x( 0, A P H × ( f� − f )) − M P CI  ( 4- 8)  i i i i i i 

w h er e: 

A P H i =  A P H p a y m e nt f or cr o p i 

E P i =  t h e e x p e ct e d pri c e f or cr o p  i 

A P H i
C L =  A P H c o v er a g e l e v el f or cr o p i 

M P CI i
S U B p =  M P CI s u bsi d y pr e mi u m f a ct or f or cr o p i 

T h e A P H i n d e m nit y p a y m e nt is a b a si c f ar m yi el d i ns ur a n c e pr o gr a m.  T h e p ar a m et er s, 

as, d efi n e d i n T a bl e 4. 1, s h o w t h at t h e pr o d u c er s ar e i ns ur e d u p t o 6 5 % of f ar m yi el d s f or 

c or n a n d c ott o n a n d f ar m yi el ds ar e c o v er e d u p t o 7 0 % f or s o y b e a ns.  U nli k e f or f ar m bill 

pr o gr a ms, t h e pr o d u c er m ust p a y a pr e mi u m f or t his pr o gr a m w hi c h is a c c o u nt e d f or 

u n d er t h e M P CI s u bsi d y pr e mi u m f a ct or.  T ot al c urr e nt p a y m e nt s a d d dir e ct p a y m e nt s, 

L D Ps, c o u nt er- c y cli c al p a y m e nt s, a n d A P H i n d e m nit y p a y m e nt s.  C o m p ari n g pr o gr a ms, 

h o w e v er, r e q uir es a d di n g f ar m r e v e n u e t o t ot al c urr e nt p a y m e nt s, w hi c h pr o vi d e s a b as e 

f or c o m p aris o n i n t h e r es ult s s e cti o n. 

2 8 



 
 

   

   

   

    

    

    

 

 

    

          

    

    

       

    

      

    

 

   

  

   

   

N C G A P r o p o s al 

T h e f oll o wi n g s e cti o n dis c us s es t h e si m ul ati o n of t h e N C G A pr o p o s al p a y m e nt s. 

As m e nti o n e d b ef or e, t h es e p a y m e nt s ar e b as e d o n a s h ortf all i n t h e n et r e v e n u e of a 

f ar m.  H o w e v er, t h e e q u ati o ns us e d i n t his si m ul ati o n r e pr es e nt a c o nstr u ct of t h e N C G A 

pr o p o s al, as t h e a ct u al f or m ul as i nt e n d e d b y t h e N C G A h a v e n ot b e e n p u blis h e d a n d 

t h er ef or e ar e o p e n t o i nt er pr et ati o n. 

F ar m-l e v el n et r e v e n u e is c al c ul at e d as 

N R = (M Y A * f y ) − C  ( 4- 9)  i i i i 

w h er e: 

N R i =  f ar m-l e v el n et r e v e n u e r e c ei v e d f or cr o p i 

C i =  pr o d u cti o n c o st of cr o p i o n a r e gi o n al b asis 

T h e N C G A b as e s c o st of pr o d u cti o n o n t h e r e gi o n al esti m at es p u blis h e d b y E R S. 

Hist ori c al c o st d at a w er e r etri e v e d fr o m E R S f or 1 9 7 5- 2 0 0 5.  T h e c o st of pr o d u cti o n 

r e gi o ns w er e li n e arl y r e gr e ss e d a g ai nst ti m e i n or d er t o a c c o u nt f or c h a n g es i n 

t e c h n ol o g y.  E R S r e d efi n e d t h e r e gi o ns i n 1 9 9 6; t h er ef or e, t h e m o d el i n c or p or at es a 

d u m m y v ari a bl e t o a ct as a n i nt er c e pt s hift er at t h e s eri es br e a k.  Usi n g t h e r e gr essi o n 

e q u ati o n t h e v al u e f or t h e pr e di ct e d c o st of 2 0 0 6 C� i 
0 6 w as c al c ul at e d f or us e i n f ut ur e 

e q u ati o ns. 

A c c or di n g t o t h e N C G A pr o p o s al t h e n et r e v e n u e g u ar a nt e e is tri g g er e d w h e n n et 

r e v e n u e dr o ps b el o w t h e Ol y m pi c fi v e- y e ar a v er a g e.  T h e m et h o d f or c al c ul ati n g t h e 

Ol y m pi c fi v e- y e ar a v er a g e will b e r ef err e d t o as e x p e ct e d n et r e v e n u e.  T h e f ar m-l e v el 

e x p e ct e d n et r e v e n u e ( N R i
E ) f or cr o p i is c al c ul at e d as: 

2 9 



    

 

       

 

     

     

 

     

 

 

     

        

  

  

  

    

  

 

    

    

 

E � y � 0 6N R = E P × f − C ( 4- 1 0) i  i i i 

w h er e: 

C� i 
0 6 =  pr e di ct e d c o st f or 2 0 0 6 b y r e gi o n f or cr o p i. 

T h e p ar a m et er s us e d i n t his e q u ati o n ar e t h o s e s et f ort h b y t h e N C G A pr o p o s al, w hi c h 

c a n b e f o u n d i n T a bl e 4. 1.  E q u ati o n 4- 8 fi n ds t h e l e v el of r e v e n u e t h at tri g g er s a 

p a y m e nt a n d is us e d wit hi n t h e c al c ul ati o n of t h e B R P p a y m e nt.  T h e t w o p a y m e nt s of 

t h e N C G A pr o p o s al, B R P a n d R C C P, ar e c al c ul at e d as: 

B R P = m a x( 0, ( N R E − ( 1 − B R P C L ) × N R i
E )) − N R i

E ( 4- 1 1) i i i 

a n d 

C L y C L R y yR C C P = mi n( R C C P × T P × c� , m a x( 0, R C C P × (T P − D P ) × c� − M Y A × c ))  ( 4- 1 2)  i i i i i i i i i i 

w h er e: 

B R P i
C L =  N C G A B R P c o v er a g e l e v el f or cr o p i 

R C C P i
C L =  N C G A R C C P c o v er a g e l e v el f or cr o p i 

T h e B R P p a y m e nt t a k es a r e v e n u e g u ar a nt e e w hi c h is c al c ul at e d b y t a ki n g t h e 

e x p e ct e d n et r e v e n u e mi n u s t h e c o v er a g e l e v el ti m es t h e a bs ol ut e v al u e f or t h e e x p e ct e d 

n et r e v e n u e.  T h e a bs ol ut e v al u e f or t h e e x p e ct e d n et r e v e n u e is us e d b e c a us e t h er e is a 

p o ssi bilit y t h at t h er e c a n b e n e g ati v e e x p e ct e d r e v e n u e.  T his h a p p e ns w h e n c o st is 

gr e at er t h a n r e v e n u e.  T h e R C C P p a y m e nt is tri g g er e d b y a c o u nt y yi el d tri g g er a n d us es 

a n e x p e ct e d pri c e i nst e a d of a t ar g et pri c e.  A c c or di n g t o t h e N C G A, si n c e B R P a n d 

R C C P w or k t o g et h er, t h e c o u nt y tri g g er r e v e n u e s h o ul d a p pr o xi m at el y e q u al 1 0 0 p er c e nt 

of t h e pr o d u ct f or t h e eff e cti v e t ar g et pri c e a n d e x p e ct e d c o u nt y yi el d. 
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U S D A P r o p o s al 

P a y m e nt s si m ul at e d u n d er t h e U S D A pr o p o s al f all i nt o o n e of t w o c at e g ori e s. 

S o m e p a y m e nt s, li k e L D Ps, ar e f o u n d a c c or di n g t o t h e s a m e m et h o ds us e d f or t h e 2 0 0 2 

f ar m bill b ut us e diff er e nt p ar a m et er s.  Ot h er p a y m e nt s li k e R C C Ps ar e n e w pr o gr a ms 

a n d t h e c al c ul ati o ns ar e d es cri b e d i n t h e U S D A pr o p o s al.  U S D A l o a n d efi ci e n c y 

p a y m e nt s ar e si m ul at e d as 

u y uL D P = f × m a x( 0, L R − M Y A ) × P A  ( 4- 1 3)  i i i i i 

w h er e: 

L D P i
u =  f ar m-l e v el L D P s u n d er U S D A pr o p o s al f or cr o p i 

L R i
u =  U S D A l o a n r at e f or cr o p i 

T h e n e w l o a n r at e a n d ot h er p ar a m et er s us e d i n t his si m ul ati o n ar e l o c at e d i n T a bl e 4. 1. 

T h e dir e ct p a y m e nt c o nstit ut es o n e of t h e p a y m e nt s c al c ul at e d t h e s a m e as b ef or e b ut 

wit h a n u p d at e d p a y m e nt r at e.  Dir e ct p a y m e nt s u n d er t h e U S D A pr o p o s al ar e si m ul at e d 

as 

u  y u R  PD P i = D P i * D P i * D P i * B A i  ( 4- 1 4)  

w h er e: 

D P i
u =  Dir e ct p a y m e nt f or cr o p i 

D P i
u R =  dir e ct p a y m e nt r at e f or cr o p i 

E q u ati o ns 4- 1 3, 4- 1 4, a n d 4- 1 5 us e t hr e e diff er e nt w a ys t o i m pl e m e nt t h e 

pr o p o s e d r e v e n u e- b as e d C C P pr o gr a m.  U S D A pr o p o s e d usi n g a n ati o n al a v er a g e yi el d 

tri g g er.  T h e yi el d tri g g er as p e ct of a r e v e n u e- b a s e d pr o gr a m r e q uir es t h e cr e ati o n of 

s e v er al a d diti o n al d at a m atri c e s.  T h e fir st m atri x c o nt ai ns t h e d e-tr e n d e d n ati o n al l e v el 
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yi el ds.  T h es e d at a s et s w er e o bt ai n e d fr o m N A S S f or 1 9 7 5- 2 0 0 5.  A r e gr essi o n a n al ysis 

li k e t h at f or c o u nt y l e v el yi el ds is p erf or m e d t o cr e at e a m atri x c o nt ai ni n g d e-tr e n d e d 

st at e yi el d s f or t h e s a m e ti m e p eri o d.  T h e st at e-l e v el yi el ds ar e us e d i n e q u ati o ns t h at 

si m ul at e diff er e nt m et h o ds of i m pl e m e nti n g a r e v e n u e-tri g g er e d c o u nt er- c y cli c al 

p a y m e nt.  T h e fi n al d at as et cr e at e d c o nt ai ns u p d at e d b as e a cr e yi el ds b as e d o n 2 0 0 5 

yi el ds.  U S D A r e v e n u e c o u nt er- c y cli c al p a y m e nt s ar e f o u n d as 

N P y R  N 0 6R C C P = C C P * C C P * ( m a x(( 0, T P − D P ) * y� −i i i i i i 

m a x( L R i , M Y A i ) * ( y i
N * 1. 0 1))) / C C P i 

y  ( 4- 1 5)  

w h er e: 

R C C P i 
N =  U S D A n ati o n al yi el d tri g g er e d R C C P p a y m e nt f or cr o p i 

y� i
N 0 6 =  Pr e di ct e d a v er a g e n ati o n al yi el d f or 2 0 0 6 f or cr o p i 

y i
N =  A v er a g e n ati o n al yi el d f or cr o p i 

C C P i 
B y =  C C P b a s e a cr es yi el d f or cr o p  i 

E q u ati o n 4- 1 4 c o nt ai ns t h e t er m ( y� i
N × 1. 0 1) ; t his t er m is us e d t o r efl e ct i n cr e as e s 

i n e x p e ct e d yi el d s o v er t h e fi v e- y e ar si m ul ati o n p eri o d w hil e t h e pr o p o s e d r e v e n u e 

g u ar a nt e e r e m ai ns c o nst a nt.  T h e t w o diff er e nt v er si o ns of t h e U S D A R C C P pr o p o s als 

us e a st at e or c o u nt y yi el d tri g g er, r es p e cti v el y.  T h e b as e a cr e yi el ds ar e t h e Ol y m pi c 

n ati o n al a v er a g e yi el d s as d efi n e d i n t h e U S D A pr o p o s al, a n d t h es e p ar a m et er s ar e list e d 

i n T a bl e 4. 1.  T h e st at e a n d c o u nt y tri g g er s ar e c al c ul at e d as: 

S P y R S 0 6R C C P i = C C P i × C C P i × ( m a x(( 0, T P i − D P i ) × y� i − 

S S 0 6 R( L R i , M Y A i ) × ( y i * 1. 0 1))) /( y� i × D P i  )  ( 4- 1 6)  
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w h er e: 

R C C P i 
S =  U S D A st at e yi el d-tri g g er e d R C C P p a y m e nt f or cr o p i 

� Sy i 
0 6 =  pr e di ct e d a v er a g e st at e yi el d f or 2 0 0 6 f or cr o p i 

y i
S =  a v er a g e st at e yi el d f or cr o p i 

a n d 

C P y R  C 0 6R C C P = C C P × C C P ) × ( m a x(( 0,T P − D P ) × y� −i i i i i i 

C C 0 6( L R , M Y A ) × ( y * 1. 0 1))) /( y� R× D P  )   ( 4- 1 7)  i i i i i 

R C C P i 
C =  U S D A c o u nt y yi el d-tri g g er e d R C C P p a y m e nt f or cr o p i 

T h e G R P l a y er of i ns ur a n c e as d es cri b e d u n d er t h e U S D A pr o p o s al is c al c ul at e d as 

S U B C L y 0 6 F L  y 0 6 yG R P = G R P × E P × m a x( 0, G R P × c� − m a x( G R P × c� , c ))  ( 4- 1 8)  i i i i i i i i 

G R P i =  G R P i n d e m nit y p a y m e nt f or cr o p i 

G i
S U B =  G R P s u bsi d y f a ct or f or cr o p i 

G R P i
C L =  G R P c o v er a g e l e v el f or cr o p i 

G R P i 
F L =  G R P fl o or f or cr o p i 

T his t y p e of i ns ur a n c e cl o s el y r e s e m bl e s t h e c urr e nt G R P pr o gr a m b ut pr o vi d e s a l a y er of 

i ns ur a n c e r at h er t h a n c o m p e ns ati n g f or l o ss es b el o w a s et l e v el.  T h e diff er e n c e aris es 

fr o m a c h a n g e i n t h e p ar a m et er s as list e d i n T a bl e 4. 1. 

I n s u r a n c e W r a p- a r o u n d P r o p o s al 

As pr e vi o usl y m e nti o n e d, p u bli c dis c o ur s e is i n cr e asi n gl y f o c usi n g o n s u bsi d y 

pr o gr a ms b a s e d o n m o difi e d r e v e n u e i ns ur a n c e pr o gr a ms, alt h o u g h t h e m e c h a ni cs of 
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s u c h pr o gr a ms h a v e n ot b e e n f or m all y pr es e nt e d.  T h e f oll o wi n g t w o e q u ati o ns r e pr es e nt 

a n i nt er pr et ati o n of t his t y p e of pr o gr a m.  A G RI P wit h h ar v e st o pti o n p a y m e nt is 

c al c ul at e d as 

1 1 C L y 0 6 yTi e r = m a x( 0, Ti er × E P × c� − M Y A × c )  ( 4- 1 9)  i i i i i i 

Ti e r i 
1 =  Ti er 1 i n d e m nit y p a y m e nt f or cr o p i 

Ti er i 
1 C L =  Ti er 1 c o v er a g e l e v el f or cr o p i 

2 S U B 2 C L � y 0 6Ti e r = M P CI × m a x( 0, Ti er × m a x( E P , M Y A ) × fi i i i i i 

− (M Y A × f y ) + Ti er 1 )  ( 4- 2 0)  i i i 

Ti e r i 
2 =  Ti er 2 i n d e m nit y p a y m e nt f or cr o p i 

Ti er i 
2 C L =  Ti er 2 c o v er a g e l e v el f or cr o p i 

T h e p a y m e nt s ar e di vi d e d i nt o t w o ti er s i n or d er t o a c c o m plis h t w o t hi n gs.  T h e fir st ti er, 

u n d er p ar a m et er s assi g n e d i n T a bl e 4. 1, off er s cr o p r e v e n u e c o v er a g e ( C R C) of 6 5 %. 

T his m e a ns t h at if t h e c o u nt y l e v el r e v e n u e dr o ps b el o w t h e b as e r e v e n u e pr ot e cti o n 

l e v el, t h e n a n i n d e m nit y p a y m e nt will b e m a d e.  Ti er 2 off er s C R C at t h e f ar m l e v el. 

A c c or di n g t o T a bl e 4. 1, t his pr ot e ct s u p t o 9 5 % of t h e e x p e ct e d r e v e n u e.  T his c o v er s 

f ar m l e v el l o ss es gr e at er t h a n 6 5 % at t h e c o u nt y l e v el.  T his pr o gr a m is r ef err e d t o as a 

r e v e n u e i ns ur a n c e wr a p pr o gr a m b e c a us e it t a k es a c o u nt y l e v el i ns ur a n c e pr o gr a m a n d 

wr a ps it ar o u n d f ar m l e v el r e v e n u e i ns ur a n c e. 
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CHAPTER V 

RESULTS 

This chapter expounds upon the results of the representative farm revenue 

simulation model.  This chapter begins with a look at the revenue distribution for the 

average farm producing one of three crops: corn, cotton or soybeans.  The results of the 

simulated revenue, when three proposed government subsidy programs are applied, are 

compared.  The NCGA, the USDA, and a crop insurance wrap around program are 

compared to simulated current program payment levels.  In addition, results comparing 

how each program affects different crops and regions are discussed.  Results are 

primarily presented in map form to make comparisons straightforward.  However, to 

begin, the results from simulating farm revenue without any government payments are 

scrutinized. 

Revenue Distribution 

As mentioned in previous chapters, alternative proposed revenue-based programs 

are based on one of two different measures of revenue: net revenue and gross revenue. 

The two revenues both require yield and price information; however net revenue also 

needs the cost of production.  The statistics summarized in Table 5.1 look at the county 

average for all three crops analyzed. 
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Figure 5.45 

Wrap versus Current risk reduction levels for Soybean. 
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CHAPTER VI 

SUMMARY AND CONCLUSIONS 

The expiration of the 2002 Farm Bill has presented an opportunity to renovate 

current farm policy into a program that better meets the demands faced by producers and 

other interested parties.  Farmers face both yield and price risk; either of which can lead 

to revenue risk.  One of the purposes of a farm subsidy program is to help alleviate a 

degree of this uncertainty and provide more revenue stability in farm income.  Current 

commodity support programs include loan deficiency payments, direct payments and 

counter-cyclical payments.  Current programs are price triggered.  Insurance programs 

are yield triggered support payments.  These programs are supposed to work in harmony 

with insurance programs to help stabilize producer revenue.  However, this is not always 

the case and this dichotomy has led to inefficiency in the program.  Therefore, during the 

farm bill debates on what to do with subsidy payments, the idea of structuring new 

programs that better fit a farmer�s needs is gaining momentum.  These programs are often 

revenue based, adding to a more efficient program by combining yield and price risk. 

This approach appears logical due to the negative correlation found between price and 

yield.  During these debates, legislators must look at the effect of any changes made to a 

program, which includes taking into account tight budgets, relatively high commodity 

prices, and World Trade Organization (WTO) constraints. 
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The intention of this thesis was to offer an overview of the potential effects of 

changes in farm programs on both the level and variability of farm revenue.  The first 

step in accomplishing this objective was to create a model that accurately simulates farms 

from every producing county for which data were available. 

Modeling commodity program proposals was the next step. Proposals modeled 

included the National Corn Growers Association (NCGA), the USDA proposal, and the 

idea of a revenue wrap-around program.  The NCGA proposal introduced the idea of a 

net revenue approach to subsidy payments. They devised two levels of payments: Base 

Revenue Protection (BRP) and Revenue Counter-Cyclical Program (RCCP).  The BRP 

payment is triggered when net revenue falls more than 30 percent below the previous 

five-year Olympic average of per-acre net corn revenue.  The RCCP program was 

designed to take the place of current LDPs and CCP.  It is structured so that when actual 

revenue falls below the trigger revenue, a payment would make up the difference.  The 

trigger revenue is based on a county revenue trigger, not a farm revenue trigger. 

The next proposal analyzed is the USDA�s.  This program increased direct 

payment rates, lowered loan rates, and created a revenue counter-cyclical program 

(RCCP).  RCCP as it was introduced by the USDA proposal uses a national yield trigger 

to calculate payment levels.  After the release of this proposal, there was debate on the 

benefit of changing this to a state or county level trigger.  The effects of all three forms of 

RCCP were calculated. 

The final version of farm programs modeled looks at the idea of a revenue support 

program that adds a layer of insurance that wraps-around revenue.  This insurance was 
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offered at a 65% coverage level and a 95% coverage level.  This program operates 

essentially in the same way that GRIP with a Harvest Revenue Option operates. 

The simulated results from all three programs were then compared against one 

another.  Observations about how each crop is affected in comparison to other crops 

using the same program, along with the spatial effects of the program, were judged.  The 

overall costs were then compared to present an overall picture of the proposals costs and 

effects. 

Conclusions 

The idea of modeling farm revenue is not a new concept. It has been used 

extensively in predicting how certain areas will be affected by government payments. 

However, it has never been attempted on the scale that this thesis encompassed.  The goal 

behind this research was to examine the concept of modeling farm level revenue in a way 

that can show hundreds of counties across the US while maintaining the necessary 

correlations among random variables, so that estimates of total program cost can be 

estimated.  This type of modeling is unique in that it encompasses hundreds of counties 

while maintaining all correlations.  The program is computationally intensive (several 

hours of computation time per crop), but the model is conceptually simple and has 

produced results comparable to those obtained from Congressional Budget Office 

models; however, it has the added benefit of allowing the reporting of county-specific 

results which allows comparison of results across regions. 

This thesis also looks at the cost of implementing net revenue programs.  While 

gross revenue has been widely studied, a net revenue design that subsumes cost 
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variability is novel, although it has been suggested previously in a crop insurance context. 

Interestingly, the findings of this study are that net revenue protection is costly primarily 

because a percentage guarantee is inherently more costly when the coefficient of 

variation is increased significantly by reducing the mean.  Although implicitly the costs 

associated with a net farm revenue protection have been believed to be expensive, this is 

one of the first times the empirical costs were calculated. The shear magnitude of costs 

associated with such a proposal is striking.  For example, a cotton program based on the 

NCGA design would be five times the cost of current commodity programs.  The NCGA, 

who proposed the plan, have since adjusted their support to less costly proposals. 

The idea of a revenue insurance based subsidy program is most often heralded by 

farmers in the Mid-West.  The reason for this is the strong negative correlation between 

price and yield.  This means that in years where crop yields are low, prices tend to be 

high, which implies that price triggered subsidies will have low payments and the 

producer will have to rely on crop insurance programs to stabilize their revenue.  The 

opposite is also true.  In years where crop yields are high, prices will be low. This means 

that farmers will not be receiving insurance payments, but will be receiving subsidy 

payment. These regions with high negative correlations would prefer to have more 

efficiency in stabilizing revenue. 

On the other hand, this does not explain what happens in regions where the prices 

and yields are not as correlated.  For example, no cotton producing region has a 

significant price-yield correlation.  This being said, theoretically, a cotton producer 

should not be made worse off by using a revenue stabilizing insurance program because 

cotton revenue variability is relatively high compared to Midwestern corn or soybeans. 
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However, cotton producers do have lower revenues under a CRC wrap insurance 

program.  The reason for this is that the cotton producers are able to capitalize on the 

inefficiency of current programs.  The inefficiency occurs when producers are essentially 

allowed to receive both high levels of insurance payments and high subsidy payments. 

For example, when cotton prices are low, subsidy payments are triggered.  At the same 

time, areas where yields are low are also receiving large insurance payments. This 

double payment increases revenue greatly. 

The corn and soybean revenue programs do not show the effect of double 

payments, because they currently have a higher price which means that DP, CCP, and 

LDPs are not as large. The program is largely driven by the starting prices.  Crops that 

have high starting prices are going to prefer revenue driven subsidy programs, whereas 

crops with a low starting price will prefer keeping price and yield triggered programs 

separate. 

The simulation looks at a five year time span.  The simulating power of a model 

decreases in accuracy over time.  The longer a time span is simulated the greater the 

chance for unknown shocks to affect the results.  For example, the current increase in 

demand for grain based ethanol will affect prices and the amount of land producing these 

crops. This model is based on historical data and therefore cannot account for these 

forms of market shocks.  These limitations are not unique to this model; it is a common 

limitation of all models based on time and historical data.  However, the overall concept 

and results of implementing a revenue based subsidy program will hold. 

The big picture shows that there is a regional aspect involved in designing policy. 

The type of policy that will be best suited depends largely on the type of price yield 
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dm log 'clear' output ; 
dm output 'clear' output; 

*LIBNAME sd2 'g:\research project'; 
LIBNAME sd2 'u:\research project'; 

options nocenter; 

DATA yieldcf;  set sd2.cr_scaler; 
fpred06 =cpred06; 
keep locstate loccnty cyield scaler fyield crpyr fpred06; 
proc sort; by locstate crpyr; 
proc means;  title 'cyield and fyield data'; 
*proc print; 
run; 

/**************************************************/ 
data styield1; set sd2.cr_styld1pt; 
if locstate < 99; 
stpred06=pred06; 
keep locstate crpyr styield stpred06 ; 
proc sort; by locstate crpyr; 
proc means;  title 'Merged Farm County State Yield Data'; 
run; 

data yldscf; merge styield1 yieldcf; 
by locstate crpyr; 

/********** cost data  ***********************/ 
data cost1; set sd2.cost7505; 
/********** to keep just corn  ****************/ 
if crop_reg eq 'cr_ps' or crop_reg eq 'cr_se' or crop_reg eq 'cr_nc' or crop_reg eq 'cr_ne'; 
cstpred06 =pred06; 

proc sort; by locstate crpyr; 
proc print; title 'cost data'; 
run; 

data yldcfcst; merge cost1 yldscf; 
by locstate crpyr; 

proc sort; by locstate loccnty crpyr; 
run; 
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DATA yield1;  set yldcfcst ; 
cpred06 = fpred06; 
proc sort; by locstate loccnty; 
proc means;  title 'yield data'; 
proc print; 
run; 

DATA baseac; 
Proc import datafile = 'L:\Sarah\BaseAcres2002.xls' 
dbms=excel out=baseac replace; 

data baseac; set baseac; 
locstate = floor(fips/1000); 
loccnty = fips - (locstate*1000); 
crbase = corn; 
cr_direct_rat = 0.76; 
cr_ccp_rat = 0.85; 
keep locstate loccnty crbase cr_direct_rat cr_ccp_rat ; 
proc sort; by locstate loccnty; 
*proc print; title 'base acres data'; 

DATA pltac; 
Proc import datafile = 'u:\research project\corn.2005.Acres.xls' 
dbms=excel out=pltac replace; 
/*Proc import datafile = 'g:\Research Project\corn.2005.Acres.xls' 
dbms=excel out=pltac replace; 
*/ 
data pltac; set pltac; 
locstate = StFips; 
loccnty = Cofips; 
cr_plt_ac=planted; 
if loccnty < 888; 

keep locstate loccnty cr_plt_ac ; 
proc sort; by locstate loccnty; 
proc print; title 'pltac acres data'; 

data acres2; merge baseac pltac; by locstate loccnty; 
proc means; title 'base and planted acres';
 run; 

DATA yield1;  merge yield1 acres2; 
by locstate loccnty ; 
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proc sort; by locstate crpyr; 
proc means;  title 'yield data'; 
*proc print; 
run; 

DATA price1;  set sd2.crpricept; 
if 2005 > year > 1974; 
crpyr=year; 
drop year luscrprice; 
proc sort; by crpyr; 
proc means;  title 'price data'; 
*proc print; 
run; 

DATA usprice1;  set sd2.crpricept; 
if 2005 > year > 1974; 
if locstate = 99; 
crpyr=year; 
usrat =crrat; 
usrat= usrat- 0.11; 
*keep usrat loccnty crpyr; 
proc sort; by crpyr; 
proc means;  title 'us price data'; 
proc print; 
run; 
/***************** national yield  ********************/ 
data usyield1; set sd2.cr_styld1pt; 
if locstate = 99; 
nyield = styield; 
keep crpyr nyield; 
proc sort; by crpyr; 
proc means;  title 'us yield data'; 
proc print; 
run; 
/****************** national yield  ********************/ 

DATA price2; merge price1 usprice1 usyield1; 
by crpyr; 
proc sort; by locstate crpyr; 
proc means;  title 'price and national yield data'; 
*proc print; 
run; 
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 data comb1; merge yield1 price2; 
by locstate crpyr; 
if locstate < 99; 

proc sort; by locstate loccnty crpyr; 
run; 

data comb2;  set comb1; 
drop crprice; 
proc sort; by crpyr; 
proc means;  title 'comb2 data'; 
*proc print; 
run; 

data big; 
locstate=0;   loccnty=0;   crpyr=0;    fyield=0;    crrat=0;  draw =0; 
i = 0;    eprice = 0;  myaprc=0;     crrev=0; cyield = 0; 

%macro analysis; 

%do randrw1 = 1 %to 500 %by 1;

 data drw1;
 retain Seed_1 0;
 do i=1 to 5;
  call ranuni(Seed_1,X1); 

crpyr=round(29*x1+1975); 
output;

 end; 
run; 

data drw2;  set drw1; 
drop seed_1 ; 
proc sort; by crpyr; 
*proc print; title 'drw2'; 
run; 

data drw3; merge drw2 usprice1; by crpyr; 
if i ne '.'; 

proc sort; by i; 
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*proc print; title 'drw3'; 
run; 

data drw4; set drw3; 
if i = 1 then eprice = 3.50; 
if i = 1 then myaprc = eprice*usrat; 
*proc print; title 'drw4'; 
run; 

data drw5;  set drw4; 
eprice2 = lag(myaprc); 
if i = 2 then eprice = eprice2; 
if i = 2 then myaprc = eprice*usrat; 
*proc print; title 'drw5'; 
run; 

data drw6;  set drw5; 
eprice2 = lag(myaprc); 
if i = 3 then eprice = eprice2; 
if i = 3 then myaprc = eprice*usrat; 

data drw7;  set drw6; 
eprice2 = lag(myaprc); 
if i = 4 then eprice = eprice2; 
if i = 4 then myaprc = eprice*usrat; 

data drw8;  set drw7; 
eprice2 = lag(myaprc); 
if i = 5 then eprice = eprice2; 
if i = 5 then myaprc = eprice*usrat; 
drop eprice2; 
*proc print;  title 'drw8'; 
run; 

data drw9; set drw8; 
/***************** sets the initital price ************************/ 
*if i = 1 then leprice = 0.52; 
drop locstate x1  usrat; 
proc sort;  by crpyr; 

data comb3; merge comb2 drw9; by crpyr; 
if i ne 0; 
draw = &randrw1; 
crrev = myaprc * fyield; 
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/*************** program parms ******************************/ 

aphcl= 0.65; rtier1cl = 0.65; rtier2cl = 0.95; rtier2_cap= 1.00; rtier3cl=0.95; rtier3_cap= 
0.1; 
cr_loan = 1.95; cr_target = 2.63;  cr_direct_rate=0.28; cr_direct_per=0.85; 
cr_ccp_per=0.85; 
cr_etarget = cr_target -cr_direct_rate; mpci_sub = 0.59; 
npred06 = 134.26; tier1cl = 0.70; tier2cl = 1.00; tier2_cap= 0.30; tier3cl=0.95; tier3_cap= 
0.1; 
/*************** program parms ******************************/ 
cr_aph_indem_pac =mpci_sub*eprice*max(0,aphcl*fpred06-fyield); 
enet = eprice*fpred06-cstpred06; 
netguar= enet-(1-tier1cl)*abs(enet); 
net = myaprc*fyield-scost; 

cr_tier1_indem_pac =max(0,netguar-(myaprc*fyield-scost)); 
cr_tier2_indem_pac =min(tier2_cap*cr_etarget*cpred06, 
max(0,tier2cl*cr_etarget*cpred06-myaprc*cyield)); 
*cr_tier3_indem_pac=min(tier3_cap*cr_etarget*cpred06,max(0,tier3cl*cr_etarget*cpred 
06-myaprc*cyield)); 

cr_rtier1_indem_pac = 0; 
/* revenue variation 
tier1 = individual revenue 65% HRO insurance wrapped around county; ;*/ 
cr_rtier2_indem_pac = max(0,rtier2cl*eprice*cpred06-myaprc*cyield); 
cr_rtier1_indem_pac = 
  mpci_sub*max(0,rtier1cl*max(eprice,myaprc)*fpred06-
((myaprc*fyield)+cr_rtier2_indem_pac) ); 
*cr_tier3_indem_pac=min(tier3_cap*cr_etarget*cpred06,max(0,tier3cl*cr_etarget*cpred 
06-myaprc*cyield)); 

/* current policy *******/ 
cr_direct_pmt_pac =(fpred06*cr_direct_rat)*cr_direct_per*cr_direct_rate; 
cr_ldp_pac = fyield*max(0, cr_loan-myaprc); 
cr_ccp_pac =  
cr_ccp_per*(fpred06*cr_ccp_rat)*max(0, cr_target-cr_direct_rate-
max(cr_loan,myaprc)); 

/********** USDA PROPOSAL  *************************** 
increased, direct rate, lowered loan rate revenue countercyclical, grp layer*/ 
cr_udirect_rate=0.28; cr_ccp_base_yield = 114.3; cr_grp_cl=0.9; cr_grp_fl=0.7; 
cr_uloan = 1.89; grp_sub = 0.55; 
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cr_uldp_pac = fyield*max(0, cr_uloan-myaprc); 
cr_udirect_pmt_pac =(fpred06*cr_direct_rat)*cr_direct_per*cr_udirect_rate; 
cr_rccp_pac = cr_ccp_per*(fpred06*cr_ccp_rat)
  *(max(0, (cr_target-cr_direct_rate)*npred06-(max(cr_loan,myaprc)*(nyield*1.01**i))) 

 /cr_ccp_base_yield) ; 
cr_rccps_pac = cr_ccp_per*(stpred06*cr_ccp_rat)
  *(max(0, (cr_target-cr_direct_rate)*stpred06-
(max(cr_loan,myaprc)*(styield*1.01**i))) 

 /(stpred06*cr_direct_rat)) ; 
cr_rccpc_pac = cr_ccp_per*(fpred06*cr_ccp_rat)
  *(max(0, (cr_target-cr_direct_rate)*cpred06-(max(cr_loan,myaprc)*(cyield*1.01**i))) 

 /(cpred06*cr_direct_rat)) ; 
cr_grp_indem_pac = grp_sub*eprice*max(0,cr_grp_cl*cpred06-max(cr_grp_fl*cpred06, 
cyield)); 
run; 

data big; set big comb3; 
if i ne '.'; 
drop seed_1 x1; 
proc means; title 'big'; 
%end; 

%mend analysis; 
%analysis; run; 

data pricesim; set big; 
if locstate ne '.'; 
if i ne 0; 
if I ne '.'; 
proc sort; by i; 
*proc print; title 'price sim '; 
proc means ; by i; 
var eprice myaprc; 
run; 

data big2; set big; 
/*********************** state with no cost data ****************/ 
if locstate = 12 or locstate = 35 or locstate = 51 then delete; 
/*****************************************************************/ 

if locstate ne '.'; 
if i ne 0; 
if I ne '.'; 
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proc sort; by locstate loccnty ; 
proc means; title 'big2 '; 
run; 

data big3; set big2; 
proc sort; by locstate loccnty; 

data big4; merge big3 acres2; by locstate loccnty; 
*if fyieldm ne '.'; 
cr_rev_tot  =crrev* cr_plt_ac  ; 
cr_aph_indem_tot    =cr_aph_indem_pac* cr_plt_ac; 
cr_tier1_indem_tot =cr_tier1_indem_pac*cr_plt_ac; 
cr_tier2_indem_tot =cr_tier2_indem_pac*cr_plt_ac; 
*ct_tier3_indem_tot   =ct_tier3_indem_pacm*ctbase; 
cr_rtier1_indem_tot   =cr_rtier1_indem_pac*cr_plt_ac; 
cr_rtier2_indem_tot   =cr_rtier2_indem_pac*cr_plt_ac; 
*ct_rtier3_indem_tot =ct_rtier3_indem_pacm*ctbase; 
cr_direct_pmt_tot   =cr_direct_pmt_pac*crbase; 
cr_ldp_tot  =cr_ldp_pac * cr_plt_ac; 
cr_udirect_pmt_tot =cr_udirect_pmt_pac*crbase; 
cr_uldp_tot   =cr_uldp_pac * cr_plt_ac; 
cr_ccp_tot   =cr_ccp_pac*crbase; 
cr_rccp_tot  =cr_rccp_pac*crbase; 
cr_rccps_tot =cr_rccps_pac*crbase; 
cr_rccpc_tot   =cr_rccpc_pac*crbase; 
cr_grp_indem_tot  =cr_grp_indem_pac* cr_plt_ac  ; 
cr_current_ppac   =(cr_direct_pmt_tot + cr_ldp_tot + cr_ccp_tot + cr_aph_indem_tot + 
cr_rev_tot)/cr_plt_ac; 
cr_ncga_ppac      =(cr_direct_pmt_tot + cr_tier1_indem_tot + cr_tier2_indem_tot + 
cr_rev_tot)/cr_plt_ac; 
cr_wrap_ppac    =(cr_direct_pmt_tot + cr_rtier1_indem_tot + cr_rtier2_indem_tot + 
cr_rev_tot)/cr_plt_ac; 
cr_usda_ppac      =(cr_udirect_pmt_tot + cr_uldp_tot + cr_rccp_tot + 
cr_aph_indem_tot + cr_grp_indem_tot + cr_rev_tot)/cr_plt_ac; 
CURRENT_PAC  =cr_ldp_pac + cr_ccp_pac + cr_aph_indem_pac+ 
cr_direct_pmt_pac; 
wrap_PAC  =cr_direct_pmt_pac + cr_rtier1_indem_pac + cr_rtier2_indem_pac; 
NCGA_PAC   =cr_direct_pmt_pac + cr_tier1_indem_pac + cr_tier2_indem_pac; 
USDA_PAC  =cr_uldp_pac + cr_udirect_pmt_pac + cr_rccp_pac + 
cr_grp_indem_pac + cr_aph_indem_pac; 

proc means n mean std min max sum; title 'aggregates '; 
run; 
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proc means; title 'big4'; 
run; 

DATA big5; set big4; 
proc means n mean std; title 'big5'; 
proc means noprint; by locstate loccnty; 
var crrev cr_current_ppac cr_wrap_ppac cr_ncga_ppac cr_plt_ac cr_usda_ppac  
  cr_rtier1_indem_pac cr_rtier2_indem_pac CURRENT_PAC USDA_PAC wrap_pac 
NCGA_PAC cr_rccp_pac  
  cr_rccpc_pac cr_rccps_pac cr_grp_indem_pac cr_tier1_indem_pac 
cr_tier2_indem_pac; 

output out= big5  
mean= cr_rev_totm cr_current_ppacm cr_wrap_ppacm cr_ncga_ppacm cr_plt_acm 
cr_usda_ppacm
 cr_rtier1_indem_pacm cr_rtier2_indem_pacm CURRENT_PACm USDA_PACm 

wrap_pacm NCGA_PACm cr_rccp_pacm
 cr_rccpc_pacm cr_rccps_pacm cr_grp_indem_pacm cr_tier1_indem_pacm 

cr_tier2_indem_pacm 

std = cr_rev_totstd cr_current_ppacstd cr_wrap_ppacstd cr_ncga_ppacstd cr_plt_acstd 
cr_usda_ppacstd
 cr_rtier1_indem_pacstd cr_rtier2_indem_pacstd CURRENT_PACstd USDA_PACstd 

wrap_pacstd NCGA_PACstd cr_rccp_pacstd
 cr_rccpc_pacstd cr_rccps_pacstd cr_grp_indem_pacstd cr_tier1_indem_pacstd 

cr_tier2_indem_pacstd; 

RUN; 

proc sort; by locstate loccnty; 

data xxx; set big5;  proc means; title 'xxxx'; 
run; 

data big6; set big5; 
state=locstate; county = loccnty; 
cr_rev_cv = cr_rev_totstd / cr_rev_totm; 
cr_ncga_cv = cr_ncga_ppacstd / cr_ncga_ppacm; 
cr_wrap_cv = cr_wrap_ppacstd / cr_wrap_ppacm; 
cr_current_cv = cr_current_ppacstd / cr_current_ppacm; 
cr_usda_cv = cr_usda_ppacstd / cr_usda_ppacm; 
Risk_Reduction_wrap = (cr_rev_cv - cr_wrap_cv)/cr_rev_cv; 
Risk_Reduction_ncga = (cr_rev_cv - cr_ncga_cv)/cr_rev_cv; 
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Risk_Reduction_Current = (cr_rev_cv - cr_current_cv)/cr_rev_cv; 
Risk_Reduction_usda = (cr_rev_cv - cr_usda_cv)/cr_rev_cv; 
if Risk_Reduction_usda = '.' then delete; 
if Risk_Reduction_Current = '.' then delete; 
Risk = Risk_Reduction_usda/Risk_Reduction_Current; 
if Risk < 0.95 then Difference1 = 'Current Risk Red. > USDA  '; 
else if risk < 1.05 then Difference1 = 'Current Risk Red. = USDA'; 
else Difference1 = 'Current Risk Red. < USDA'; 
proc means mean min max sum; title 'risk red.xxxxxxxxx'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(red orange green yellow cyan)

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation htext=6;

 proc gmap map=maps.uscounty data=big6 all;
 id state county ;
 choro Difference1 / coutline=black levels=3  midpoints=old
 cempty=black missing  ; 

title 'Corn Risk Reduction of Current Program vs. USDA - National'; 
run; 
quit; 

data big8; set big5; 
state=locstate; county = loccnty; 
if cr_rtier1_indem_pacm ne '.'; 
if cr_rtier1_indem_pacm < 3 then RAWrap = '$ 0-3 '; 
else if cr_rtier1_indem_pacm < 6 then RAWrap = '$3-6'; 
else if cr_rtier1_indem_pacm < 9 then RAWrap = '$6-9'; 
else RAWrap = '>$9'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=1 fontres=presentation 
htext=6;

 proc gmap map=maps.uscounty data=big8 all;
 id state county ;
 choro RAWRAP
 / coutline=black levels=3 midpoints=old
 cempty=black missing  ; 

title 'Corn 65% RA-HPO Wrap around County Revenue Design'; 
run; 
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data big9; set big5; 
state=locstate; county = loccnty; 
if cr_tier2_indem_pacm ne '.'; 

if cr_rtier2_indem_pacm < 10 then rtier2 = '$ 0-10 '; 
else if cr_rtier2_indem_pacm < 20 then rtier2 = '$10-20'; 
else if cr_rtier2_indem_pacm < 30 then rtier2= '$20-30'; 
else rtier2 = '> $30'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big9 all;
 id state county ;
 choro rtier2
 / coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Corn 95% County Revenue Guarantee   '; 
run; 

data big10; set big5; 
state=locstate; county = loccnty; 
if CURRENT_PACm ne '.'; 
if CURRENT_PACm < 20 then Current = '$ 0-20'; 
else if CURRENT_PACm < 40 then Current = '$20-40'; 
else if CURRENT_PACm < 60 then Current= '$40-60'; 
else Current = '> $60'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big10 all;
 id state county ;
 choro current
 / coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Corn Combined LDP, Counter-Cylical, Direct, and Crop Insurance Payments'; 
run; 
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data big11; set big5; 
state=locstate; county = loccnty; 
if USDA_PACm ne '.'; 
if USDA_PACm < 20 then USDA = '$ 0-20'; 
else if USDA_PACm < 40 then USDA = '$20-40'; 
else if USDA_PACm < 60 then USDA = '$40-60'; 
else USDA = '> $75'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big11 all;
 id state county ;
 choro usda
 / coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Corn USDA Proposal'; 
run; 

data big12; set big5; 
state=locstate; county = loccnty; 
if cr_rccp_pacm ne '.'; 
if cr_rccp_pacm < 1 then RCCP = '$ 0-1  '; 
else if cr_rccp_pacm < 2 then RCCP = '$1-2'; 
else if cr_rccp_pacm < 3 then RCCP = '$3-4 '; 
else RCCP = '> $4'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big12 all;
 id state county ;
 choro rccp 
/ coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Corn USDA RCCP Payments'; 
run; 

data big13; set big5; 
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state=locstate; county = loccnty; 
if cr_grp_indem_pacm ne '.'; 
if cr_grp_indem_pacm < 4 then GRP = '$ 0-4  '; 
else if cr_grp_indem_pacm < 8 then GRP = '$4-8'; 
else if cr_grp_indem_pacm < 12 then GRP = '$8-12 '; 
else GRP = '> $12'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big13 all;
 id state county ;
 choro GRP
 / coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Corn USDA GRP Layer Payments'; 
run; 

data big14; set big5; 
state=locstate; county = loccnty; 
if cr_rccpc_pacm ne '.'; 
if cr_rccpc_pacm < 1 then RCCPC = '$ 0-1  '; 
else if cr_rccpc_pacm < 2 then RCCPC = '$1-2'; 
else if cr_rccpc_pacm < 3 then RCCPC = '$2-3 '; 
else RCCPC = '> $3'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big14 all;
 id state county ;
 choro rccpc 
/ coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Corn USDA RCCP County-Triggered Payments'; 
run; 

data big15; set big5; 
state=locstate; county = loccnty; 
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if cr_rccps_pacm ne '.'; 
if cr_rccps_pacm < 3 then RCCPS = '$ 0-3  '; 
else if cr_rccps_pacm < 6 then RCCPS = '$3-6'; 
else if cr_rccps_pacm < 9 then RCCPS = '$6-9'; 
else RCCPS = '> $9'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big15 all;
 id state county ;
 choro rccps 
/ coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Corn USDA RCCP State-Triggered Payments'; 
run; 

DATA big15x; set big4; 
proc means n mean std; title 'risk'; 
proc means noprint; by locstate loccnty; 
var crrev cr_current_ppac cr_wrap_ppac; 
output out= big5x mean= cr_rev_totm cr_current_ppacm cr_wrap_ppacm 
std = cr_rev_totstd cr_current_ppacstd cr_wrap_ppacstd; 
proc sort; by locstate loccnty; 

data big16; set big5; 
state=locstate; county = loccnty; 
cr_rev_cv = cr_rev_totstd / cr_rev_totm; 
cr_wrap_cv = cr_wrap_ppacstd / cr_wrap_ppacm; 
cr_current_cv = cr_current_ppacstd / cr_current_ppacm; 
Risk_Reduction_wrap = (cr_rev_cv - cr_wrap_cv)/cr_rev_cv; 
Risk_Reduction_Current = (cr_rev_cv - cr_current_cv)/cr_rev_cv; 
if Risk_Reduction_wrap = '.' then delete; 
if Risk_Reduction_Current = '.' then delete; 
Risk = Risk_Reduction_wrap/Risk_Reduction_Current; 
if Risk < 0.95 then Difference = 'Current Risk Red. > Wrap Risk Red.'; 
else if risk < 1.05 then Difference = 'Current Risk Red. = Wrap Risk Red.'; 
else Difference = 'Current Risk Red. < Wrap Risk Red'; 
proc means; title 'risk red.'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(red orange green yellow cyan) 
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 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation htext=6;

 proc gmap map=maps.uscounty data=big16 all;
 id state county ;
 choro Difference / coutline=black levels=3  midpoints=old  
 cempty=black missing  ; 

title 'Corn Risk Reduction of Current Program vs. WRAP'; 
run; 

data big30; set big5; 
state=locstate; county = loccnty; 
cr_rev_cv = cr_rev_totstd / cr_rev_totm; 
cr_ncga_cv = cr_ncga_ppacstd / cr_ncga_ppacm; 
cr_current_cv = cr_current_ppacstd / cr_current_ppacm; 
Risk_Reduction_ncga = (cr_rev_cv - cr_ncga_cv)/cr_rev_cv; 
Risk_Reduction_Current = (cr_rev_cv - cr_current_cv)/cr_rev_cv; 
if Risk_Reduction_ncga = '.' then delete; 
if Risk_Reduction_Current = '.' then delete; 
Risk = Risk_Reduction_ncga/Risk_Reduction_Current; 
if Risk < 0.95 then Difference = 'Current Risk Red. > NCGA Risk Red.'; 
else if risk < 1.05 then Difference = 'Current Risk Red. = NCGA Risk Red.'; 
else Difference = 'Current Risk Red. < NCGA Risk Red'; 
proc means; title 'risk red.'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(red orange green yellow cyan)

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation htext=6;

 proc gmap map=maps.uscounty data=big30 all;
 id state county ;
 choro Difference / coutline=black levels=3  midpoints=old  
 cempty=black missing  ; 

title 'Corn Risk Reduction of Current Program vs. NCGA'; 
run; 

data big17; set big5x; 
state=locstate; county = loccnty; 
Payment_difference = cr_current_ppacm - cr_ncga_ppacm; 
if payment_difference = '.' then delete; 
if payment_difference < 0 then Difference = 'Current < NCGA Revenue'; 
*else if payment_difference < 5 then diffdum = 2; 
else Difference = 'Current > NCGA Revenue';; 

goptions reset=global gunit=pct border cback=white 
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 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red green orange yellow cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=6;

 proc gmap map=maps.uscounty data=big17 all;
 id state county ;
 choro Difference / coutline=black levels=2  midpoints=old  
 cempty=black missing  ; 

title 'Corn Average Current Program Payments - NCGA Revenue Proposal'; 
run; 

data big18; set big4; 
state=locstate; county = loccnty; 
if cr_tier1_indem_pac ne '.'; 
if cr_tier1_indem_pac < 30 then BRP = '$ 0-30/ac'; 
else if cr_tier1_indem_pac < 60 then BRP = '$30-60/ac'; 
else BRP = '>$60/ac'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=1 fontres=presentation 
htext=6;

 proc gmap map=maps.uscounty data=big18 all;
 id state county ;
 choro BRP
 / coutline=black levels=3 midpoints=old
 cempty=black missing  ; 

title 'Corn Average NCGA BRP Payment'; 
run; 

data big19; set big4; 
state=locstate; county = loccnty; 
if cr_tier2_indem_pac ne '.'; 
if cr_tier2_indem_pac < 10 then RCCP = '$ 0-10/ac'; 
else if cr_tier2_indem_pac < 20 then RCCP = '$10-20/ac'; 
else if cr_tier2_indem_pac < 30 then RCCP= '$20-30/ac'; 
else RCCP = '> $30/ac'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
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htext=5;

 proc gmap map=maps.uscounty data=big19 all;
 id state county ;
 choro rccp 
/ coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Corn Average NCGA RCCP Payment'; 
run; 

data big21; set big5; 
state=locstate; county = loccnty; 
if NCGA_PACm ne '.'; 
if NCGA_PACm < 40 then NCGA = '$ 0-40/ac '; 
else if NCGA_PACm < 60 then NCGA = '$40-60/ac'; 
else if NCGA_PACm < 80 then NCGA= '$60-80/ac'; 
else NCGA = '> $80/ac'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big21 all;
 id state county ;
 choro NCGA
 / coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'National Corn Growers Association Average Payments'; 
run; 

data big22; set big5; 
state=locstate; county = loccnty; 
if wrap_PACm ne '.'; 
if wrap_PACm < 40 then Wrap = '$ 0-40 '; 
else if wrap_PACm < 80 then Wrap = '$40-80'; 
else if wrap_PACm < 120 then Wrap= '$80-120'; 
else Wrap = '> $120'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3; 
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 proc gmap map=maps.uscounty data=big22 all;
 id state county ;
 choro wrap 
/ coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Wrap Average Payments'; 
run; 
quit; 

dm log 'clear' output ; 
dm output 'clear' output; 

LIBNAME sd2 'C:\Documents and Settings\admin\Desktop\F Drive\research project'; 
*LIBNAME sd2 'u:\research project'; 

options nocenter; 

/* data yieldf takes the yield history for each county and organizes it 
into one data set keeping certain variables.  Used to sort a data set.  This 
will be used to get a farm yield per county*/ 

DATA yieldcf;  set sd2.ct_scaler; 
fpred06 =cpred06; 
*keep locstate loccnty cyield scaler fyield crpyr fpred06; 
*keep the state name, county name, fyield, year, and predicted value for 06; 
proc sort; by locstate crpyr; 
proc means;  title 'cyield and fyield data'; 
run; 

/**************************************************/ 
data styield1; set sd2.ct_styld1pt; 
if locstate < 99; 
stpred06=pred06; 
keep locstate crpyr styield stpred06 ; 
proc sort; by locstate crpyr; 
proc means;  title 'Merged Farm County State Yield Data'; 
run; 

data yldscf; merge styield1 yieldcf; 
by locstate crpyr; 

/********** cost data  ***********************/ 
data cost1; set sd2.cost7505; 
/********** to keep just cotton  *************/ 
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if crop_reg eq 'ct_d' or crop_reg eq 'ct_se' or crop_reg eq 'ct_sw' or crop_reg eq 'ct_sp'; 
cstpred06 =pred06; 
proc sort; by locstate crpyr; 
proc print; title 'cost data'; 
run; 
/********** Combine yield with cost data******/ 
data yldcfcst; merge cost1 yldscf; 
by locstate crpyr; 
proc sort; by locstate loccnty crpyr; 
run; 

/*This will combine the simulated county yield with the simulated farm yield*/ 
DATA yield1;  set yldcfcst ; 
cpred06 = fpred06; 
proc sort; by locstate loccnty; 
proc means;  title 'yield data'; 
proc print; 
run; 

DATA baseac; 
Proc import datafile = 'L:\Sarah\BaseAcres2002.xls' 
dbms=excel out=baseac replace; 

data baseac; set baseac; 
/*The next two equations are making the variable names of the new data 
set to match the names used in the other data sets.*/ 
locstate = floor(fips/1000); /*floor returns the lgst. integer that is less than or equal to the 
argument.*/ 
loccnty = fips - (locstate*1000); 
ctbase = cotton; 
ct_direct_rat = 0.88; *amount of land dedicated to cotton in direct payment; 
ct_ccp_rat = 0.90; *amount of land dedicated to cotton in counter cylical payments; 
keep locstate loccnty ctbase ct_direct_rat ct_ccp_rat ; 
proc sort; by locstate loccnty; 
*proc print; title 'Base Acres Data'; 
run; 

DATA pltac; 
/*Proc import datafile = 'u:\research project\upland_cotton.2005.Acres.xls' 
dbms=excel out=pltac replace;*/ 
Proc import datafile = 'C:\Documents and Settings\admin\Desktop\F Drive\research 
project\upland_cotton.2005.Acres.xls' 
dbms=excel out=pltac replace; 
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data pltac; set pltac; 
locstate = StFips; 
loccnty = Cofips; 
ct_plt_ac=planted; 
if loccnty < 888; 
keep locstate loccnty ct_plt_ac ; 
proc sort; by locstate loccnty; 
proc print; title 'Planted Acres Data'; 

data acres2; merge baseac pltac; by locstate loccnty; 
proc means; title 'Base and Planted Acres'; 
run; 

DATA yield1;  merge yield1 acres2; 
by locstate loccnty ; 
proc sort; by locstate crpyr; 
proc means;  title 'Yield Data'; 
*proc print; 
run; 

/******** State Price **********/ 
DATA price1;  set sd2.ctpricept; 
if 2005 > year > 1974; 
if locstate < 99; 
crpyr=year; 
drop year luscrprice; 
proc sort; by crpyr; 
proc means;  title 'Price Data'; 
*proc print; 
run; 

/********** US Price ************/ 
DATA usprice1;  set sd2.ctpricept; 
if 2005 > year > 1974; 
if locstate = 99; 
crpyr=year; 
usrat =crrat; 
*keep usrat loccnty crpyr; 
proc sort; by crpyr; 
proc means;  title 'US Price Data'; 
proc print; 
run; 
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/********* National Yield  ********/ 
data usyield1; set sd2.ct_styld1pt; 
if locstate = 99; 
nyield = styield; 
keep crpyr nyield; 
proc sort; by crpyr; 
proc means;  title 'US Yield Data'; 
proc print; 
run; 

DATA price2; merge price1 usprice1 usyield1; 
by crpyr; 
proc sort; by locstate crpyr; 
proc means;  title 'Price and National Yield Data'; 
proc print; 
run; 

data comb1; merge yield1 price2; 
by locstate crpyr; 
if locstate < 99; 
proc sort; by locstate loccnty crpyr; 
run; 

data comb2;  set comb1; 
drop ctprice; 
proc sort; by crpyr; 
proc means;  title 'Comb2 Data'; 
run; 

data big; 
locstate=0;   loccnty=0;   crpyr=0;    fyield=0;    ctrat=0;  draw =0; 
i = 0;    eprice = 0;  myaprc=0;     ctrev=0; cyield = 0; 
%macro analysis; 

%do randrw1 = 1 %to 10 %by 1;

 data drw1;
 retain Seed_1 0;
 do i=1 to 5;
  call ranuni(Seed_1,X1); 

crpyr=round(29*x1+1975); 
output;

 end; 
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run; 

data drw2;  set drw1; 
drop seed_1 ; 
proc sort; by crpyr; 
*proc print; title 'drw2'; 
run; 

data drw3; merge drw2 usprice1; by crpyr; 
if i ne '.'; 

proc sort; by i; 
*proc print; title 'drw3'; 
run; 

data drw4; set drw3; 
if i = 1 then eprice = 0.58; 
if i = 1 then myaprc = min(1.00, eprice*(1+ 0.5*(usrat-1))); 
*proc print; title 'drw4'; 
run; 

data drw5;  set drw4; 
eprice2 = lag(myaprc); 
if i = 2 then eprice = eprice2; 
if i = 2 then myaprc = min(1.00, eprice*(1+ 0.5*(usrat-1))); 
*proc print; title 'drw5'; 
run; 

data drw6;  set drw5; 
eprice2 = lag(myaprc); 
if i = 3 then eprice = eprice2; 
if i = 3 then myaprc = min(1.00, eprice*(1+ 0.5*(usrat-1))); 

data drw7;  set drw6; 
eprice2 = lag(myaprc); 
if i = 4 then eprice = eprice2; 
if i = 4 then myaprc = min(1.00, eprice*(1+ 0.5*(usrat-1))); 

data drw8;  set drw7; 
eprice2 = lag(myaprc); 
if i = 5 then eprice = eprice2; 
if i = 5 then myaprc = min(1.00, eprice*(1+ 0.5*(usrat-1))); 
drop eprice2; 
*proc print;  title 'drw8'; 
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run; 

data drw9; set drw8; 
/***************** sets the initital price ************************/ 
*if i = 1 then leprice = 0.52; 
drop locstate x1  usrat; 
proc sort;  by crpyr; 

data comb3; merge comb2 drw9; by crpyr; 
if i ne 0; 
draw = &randrw1; 
ctrev = myaprc * fyield; 

/*************** program parms *********************/ 
aphcl= 0.65; rtier1cl = 0.65; rtier2cl = 0.95; rtier2_cap= 1.0; rtier3cl=0.95; rtier3_cap= 
0.1; 
ct_loan = 0.52; ct_target = 0.724;  ct_direct_rate=0.0667; ct_direct_per=0.85; 
ct_ccp_per=0.85; 
ct_etarget = ct_target -ct_direct_rate; mpci_sub = 0.59; 
npred06 = 676.25; tier1cl = 0.70; tier2cl = 1.00; tier2_cap= 0.30; tier3cl=0.95; tier3_cap= 
0.1; 
/*************** program parms ******************************/ 
ct_aph_indem_pac =mpci_sub*eprice*max(0,aphcl*fpred06-fyield); 
enet = eprice*fpred06-cstpred06; 
rnetguar= enet-(1-rtier1cl)*abs(enet); 
netguar= enet-(1-tier1cl)*abs(enet); 
net = myaprc*fyield-scost; 

ct_tier1_indem_pac =max(0,netguar-(myaprc*fyield-scost)); 
ct_tier2_indem_pac =min(tier2_cap*ct_etarget*cpred06, 
max(0,tier2cl*ct_etarget*cpred06-myaprc*cyield)); 
*ct_tier3_indem_pac=min(tier3_cap*ct_etarget*cpred06,max(0,tier3cl*ct_etarget*cpred 
06-myaprc*cyield)); 

ct_rtier1_indem_pac =0; 
/* revenue variation*/ 
/*rtier1 is individual revenue 65% HRO insurance wrapped around county*/ 
ct_rtier2_indem_pac = max(0,rtier2cl*eprice*cpred06-myaprc*cyield); 
ct_rtier1_indem_pac = 
  mpci_sub*max(0,rtier1cl*max(eprice,myaprc)*fpred06-
((myaprc*fyield)+ct_rtier2_indem_pac) ); 
*ct_rtier3_indem_pac=min(rtier3_cap*ct_etarget*cpred06,max(0,rtier3cl*ct_etarget*cpr 
ed06-myaprc*cyield)); 
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/* current policy */ 
ct_direct_pmt_pac =(fpred06*ct_direct_rat)*ct_direct_per*ct_direct_rate; 
ct_ldp_pac = fyield*max(0, ct_loan-myaprc); 
ct_ccp_pac =  
ct_ccp_per*(fpred06*ct_ccp_rat)*max(0, ct_target-ct_direct_rate-max(ct_loan,myaprc)); 

/********** USDA PROPOSAL  *************************** 
increased, direct rate, lowered loan rate revenue countercyclical, grp layer*/ 
ct_udirect_rate=0.1108; ct_ccp_base_yield = 638.9; ct_grp_cl=0.9; ct_grp_fl=0.7; 
ct_uloan = 0.457; grp_sub = 0.55; 

ct_uldp_pac = fyield*max(0, ct_uloan-myaprc); 
ct_udirect_pmt_pac =(fpred06*ct_direct_rat)*ct_direct_per*ct_udirect_rate; 
ct_rccp_pac = ct_ccp_per*(fpred06*ct_ccp_rat)
  *(max(0, (ct_target-ct_direct_rate)*npred06-(max(ct_loan,myaprc)*(nyield*1.01**i))) 

 /ct_ccp_base_yield) ; 
ct_rccps_pac = ct_ccp_per*(fpred06*ct_ccp_rat)
  *(max(0, (ct_target-ct_direct_rate)*stpred06-
(max(ct_loan,myaprc)*(styield*1.01**i))) 

 /(stpred06*ct_direct_rat)) ; 
ct_rccpc_pac = ct_ccp_per*(fpred06*ct_ccp_rat)
  *(max(0, (ct_target-ct_direct_rate)*cpred06-(max(ct_loan,myaprc)*(cyield*1.01**i))) 

 /(cpred06*ct_direct_rat)) ; 
ct_grp_indem_pac = grp_sub*eprice*max(0,ct_grp_cl*cpred06-max(ct_grp_fl*cpred06, 
cyield)); 
run; 

data big; set big comb3; 
if i ne '.'; 
drop seed_1 x1; 
proc means; title 'big'; 
%end; 

%mend analysis; 
%analysis; run; 

data pricesim; set big; 
if locstate ne '.'; 
if i ne 0; 
if I ne '.'; 
proc sort; by i; 
*proc print; title 'Price Sim '; 
proc means ; by i; 
var eprice myaprc; 
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run; 

data big2; set big; 
/*********************** state with no cost data ****************/ 
if locstate = 12 or locstate = 35 or locstate = 51 then delete; 
if locstate ne '.'; 
if i ne 0; 
if I ne '.'; 
proc sort; by locstate loccnty ; 
proc means; title 'big2 '; 
/*proc means noprint; by locstate loccnty i; 
var myaprc enet net ct_aph_indem_pac ct_rtier1_indem_pac ct_rtier2_indem_pac  
ct_direct_pmt_pac ct_ldp_pac ct_ccp_pac ctrev fyield cyield eprice ; 
output out= big3 mean= myaprcm enetm netm ct_aph_indem_pacm 
ct_rtier1_indem_pacm ct_rtier2_indem_pacm
 ct_rtier3_indem_pacm  ct_direct_pmt_pacm ct_ldp_pacm ct_ccp_pacm ct_revm fyieldm 
cyieldm epricem; 
*/ 
run; 

data big3; set big2; 
proc sort; by locstate loccnty; 

data big4; merge big3 acres2; by locstate loccnty; 
*if fyieldm ne '.'; 
ct_rev_tot    =ctrev* ct_plt_ac  ; 
ct_aph_indem_tot    =ct_aph_indem_pac* ct_plt_ac; 
ct_tier1_indem_tot  =ct_tier1_indem_pac*ct_plt_ac; 
ct_tier2_indem_tot  =ct_tier2_indem_pac*ct_plt_ac; 
*ct_tier3_indem_tot   =ct_tier3_indem_pacm*ctbase; 
ct_rtier1_indem_tot   =ct_rtier1_indem_pac*ct_plt_ac; 
ct_rtier2_indem_tot   =ct_rtier2_indem_pac*ct_plt_ac; 
ct_rtier3_indem_tot   =ct_rtier3_indem_pacm*ctbase; 
ct_direct_pmt_tot   =ct_direct_pmt_pac*ctbase; 
ct_ldp_tot    =ct_ldp_pac * ct_plt_ac; 
ct_udirect_pmt_tot  =ct_udirect_pmt_pac*ctbase; 
ct_uldp_tot   =ct_uldp_pac * ct_plt_ac; 
ct_ccp_tot =ct_ccp_pac*ctbase; 
ct_rccp_tot  =ct_rccp_pac*ctbase; 
ct_rccps_tot =ct_rccps_pac*ctbase; 
ct_rccpc_tot =ct_rccpc_pac*ctbase; 
ct_grp_indem_tot  =ct_grp_indem_pac* ct_plt_ac; 
ct_current_ppac  =(ct_direct_pmt_tot + ct_ldp_tot + ct_ccp_tot + ct_aph_indem_tot + 
ct_rev_tot)/ct_plt_ac; 
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ct_ncga_ppac      =(ct_direct_pmt_tot + ct_tier1_indem_tot + ct_tier2_indem_tot /*+ 
ct_tier3_indem_tot */+ ct_rev_tot)/ct_plt_ac; 
ct_wrap_ppac  =(ct_direct_pmt_tot + ct_rtier1_indem_tot + ct_rtier2_indem_tot + 
ct_rev_tot)/ct_plt_ac; 
ct_usda_ppac    =(ct_udirect_pmt_tot + ct_uldp_tot + ct_rccp_tot + ct_aph_indem_tot 
+ ct_grp_indem_tot + ct_rev_tot)/ct_plt_ac; 
CURRENT_PAC  =ct_ldp_pac + ct_ccp_pac + ct_aph_indem_pac+ 
ct_direct_pmt_pac; 
wrap_PAC  =ct_direct_pmt_pac + ct_rtier1_indem_pac + ct_rtier2_indem_pac; 
NCGA_PAC   =ct_direct_pmt_pac + ct_tier1_indem_pac + ct_tier2_indem_pac; 
USDA_PAC  =ct_uldp_pac + ct_udirect_pmt_pac + ct_rccp_pac + 
ct_grp_indem_pac + ct_aph_indem_pac; 
/*proc sort; by locstate i;*/ 
proc means n mean std min max sum; title 'Aggregates '; 
run; 

DATA big5; set big4; 
proc means n mean std; title 'big5'; 
proc means noprint; by locstate loccnty; 
var ctrev ct_current_ppac ct_wrap_ppac ct_ncga_ppac ct_plt_ac ct_usda_ppac  
  ct_rtier1_indem_pac ct_rtier2_indem_pac CURRENT_PAC USDA_PAC 
NCGA_PAC wrap_PAC ct_rccp_pac  

ct_rccps_pac ct_rccpc_pac ct_grp_indem_pac; 

output out= big5  
mean= ct_rev_totm ct_current_ppacm ct_wrap_ppacm ct_ncga_ppacm ct_plt_acm 
ct_usda_ppacm
  ct_rtier1_indem_pacm ct_rtier2_indem_pacm CURRENT_PACm USDA_PACm 

NCGA_PACm wrap_PACm ct_rccp_pacm
  ct_rccps_pacm ct_rccpc_pacm ct_grp_indem_pacm 

std = ct_rev_totstd ct_current_ppacstd ct_wrap_ppacstd ct_ncga_ppacstd ct_plt_acstd 
ct_usda_ppacstd
 ct_rtier1_indem_pacstd ct_rtier2_indem_pacstd CURRENT_PACstd USDA_PACstd 

NCGA_PACstd wrap_PACstd ct_rccp_pacstd
 ct_rccps_pacstd ct_rccpc_pacstd ct_grp_indem_pacstd; 

run; 

data big6; set big5; 
state=locstate; county = loccnty; 
ct_rev_cv = ct_rev_totstd / ct_rev_totm; 
ct_NCGA_cv = ct_NCGA_ppacstd / ct_NCGA_ppacm; 
ct_wrap_cv = ct_wrap_ppacstd / ct_wrap_ppacm; 
ct_current_cv = ct_current_ppacstd / ct_current_ppacm; 
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ct_usda_cv = ct_usda_ppacstd / ct_usda_ppacm; 
Risk_Reduction_wrap = (ct_rev_cv - ct_wrap_cv)/ct_rev_cv; 
Risk_Reduction_Current = (ct_rev_cv - ct_current_cv)/ct_rev_cv; 
Risk_Reduction_NCGA = (ct_rev_cv - ct_ncga_cv)/ct_rev_cv; 
Risk_Reduction_usda = (ct_rev_cv - ct_usda_cv)/ct_rev_cv; 
if Risk_Reduction_usda = '.' then delete; 
if Risk_Reduction_wrap = '.' then delete; 
if Risk_Reduction_ncga = '.' then delete; 
if Risk_Reduction_Current = '.' then delete; 
Risk1 = Risk_Reduction_usda/Risk_Reduction_Current; 
if Risk1 < 0.95 then Difference = 'Current Risk Red. > USDA - National Level'; 
else if Risk1 < 1.05 then Difference = 'Current Risk Red. = USDA - National Level'; 
else Difference = 'Current Risk Red. < USDA- National Level'; 

proc means mean min max sum; title 'Current vs. USDA Risk Reduction'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(red orange green yellow cyan)

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation htext=6;

 proc gmap map=maps.uscounty data=big6 all;
 id state county ;
 choro Difference / coutline=black levels=3  midpoints=old  
 cempty=black missing  ; 

title 'Cotton Risk Reduction of Current Program vs. USDA'; 
run; 

data big7; set big5; 
state=locstate; county = loccnty; 
Payment_difference = ct_current_ppacm - ct_wrap_ppacm; 
if payment_difference = '.' then delete; 
if payment_difference < 0 then Difference = 'Current < Revenue Wrap'; 
*else if payment_difference < 5 then diffdum = 2; 
else Difference = 'Current > Revenue Wrap'; 

goptions reset=global gunit=pct border cback=white
 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */

 colors=(Red green orange yellow cyan  )
 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 

htext=6;

 proc gmap map=maps.uscounty data=big7 all; 
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 id state county ;
 choro Difference / coutline=black levels=2  midpoints=old  
 cempty=black missing  ; 

title 'Cotton Average Current Program Payments - Revenue Wrap'; 
run; 

data big7b; set big5; 
state=locstate; county = loccnty; 
Payment_difference = ct_current_ppacm - ct_usda_ppacm; 
if payment_difference = '.' then delete; 
if payment_difference < 0 then Difference = 'Current < USDA Proposal'; 
*else if payment_difference < 5 then diffdum = 2; 
else Difference = 'Current > USDA Proposal';; 

goptions reset=global gunit=pct border cback=white
 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */

 colors=(Red green orange yellow cyan  )
 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 

htext=6;

 proc gmap map=maps.uscounty data=big7b all;
 id state county ;
 choro Difference / coutline=black levels=2  midpoints=old  
 cempty=black missing  ; 

title 'Cotton Average Current Program Payments vs. USDA Proposal'; 
run; 

data big8; set big5; 
state=locstate; county = loccnty; 
if ct_rtier1_indem_pacm ne '.'; 
if ct_rtier1_indem_pacm < 3 then RAWrap = '$ 0-3 '; 
else if ct_rtier1_indem_pacm < 6 then RAWrap = '$3-6'; 
else if ct_rtier1_indem_pacm < 9 then RAWrap = '$6-9'; 
else RAWrap = '>$9'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=1 fontres=presentation 
htext=6;

 proc gmap map=maps.uscounty data=big8 all;
 id state county ;
 choro RAWRAP 
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 / coutline=black levels=3 midpoints=old
 cempty=black missing  ; 

title 'Cotton 65% RA-HPO Wrap around County Revenue Design'; 
run; 
data big9; set big5; 
state=locstate; county = loccnty; 
if ct_rtier2_indem_pacm ne '.'; 

if ct_rtier2_indem_pacm < 12 then rtier2 = '$ 0-12 '; 
else if ct_rtier2_indem_pacm < 24 then rtier2 = '$12-24'; 
else if ct_rtier2_indem_pacm < 36 then rtier2= '$24-36'; 
else rtier2 = '> $36'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big9 all;
 id state county ;
 choro rtier2
 / coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Cotton 95% County Revenue Guarantee'; 
run; 

data big10; set big5; 
state=locstate; county = loccnty; 
if current_pacm ne '.'; 

if CURRENT_PACm < 40 then Current = '$ 0-40 '; 
else if CURRENT_PACm < 80 then Current = '$40-80'; 
else if CURRENT_PACm < 120 then Current= '$80-120'; 
else Current = '> $120'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big10 all;
 id state county ;
 choro current 
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 / coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Cotton Combined LDP, Counter-Cylical, Direct, and Crop Insurance Payments'; 
run; 

data big11; set big5; 
state=locstate; county = loccnty; 
if usda_pacm ne '.'; 

if USDA_PACm < 40 then USDA = '$ 0-40'; 
else if USDA_PACm < 80 then USDA = '$40-80'; 
else if USDA_PACm < 120 then USDA = '$80-120'; 
else USDA = '> $120'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big11 all;
 id state county ;
 choro usda
 / coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Cotton USDA Proposal'; 
run; 

data big12; set big5; 
state=locstate; county = loccnty; 
if ct_rccp_pacm ne '.'; 
if ct_rccp_pacm < 10 then RCCP = '$ 0-10  '; 
else if ct_rccp_pacm < 20 then RCCP = '$10-20'; 
else if ct_rccp_pacm < 30 then RCCP = '$20-30 '; 
else RCCP = '> $30'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big12 all;
 id state county ;
 choro rccp 
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 / coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Cotton USDA RCCP Payments'; 
run; 

data big13; set big5; 
state=locstate; county = loccnty; 
if ct_grp_indem_pacm ne '.'; 
if ct_grp_indem_pacm < 3 then GRP = '$ 0-3  '; 
else if ct_grp_indem_pacm < 6 then GRP = '$3-6'; 
else if ct_grp_indem_pacm < 9 then GRP = '$6-9 '; 
else GRP = '> $9'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big13 all;
 id state county ;
 choro GRP
 / coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Cotton USDA GRP Layer Payments'; 
run; 

data big14; set big5; 
state=locstate; county = loccnty; 
if ct_rccpc_pacm ne '.'; 
if ct_rccpc_pacm < 30 then RCCPC = '$ 0-30  '; 
else if ct_rccpc_pacm < 45 then RCCPC = '$30-45'; 
else if ct_rccpc_pacm < 60 then RCCPC = '$45-60 '; 
else RCCPC = '> $60'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big14 all;
 id state county ;
 choro rccpc 
/ coutline=black levels=4 midpoints=old
 cempty=black missing  ; 
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title 'Cotton USDA RCCP County-Triggered Payments'; 
run; 

data big15; set big5; 
state=locstate; county = loccnty; 
if ct_rccps_pacm ne '.'; 
if ct_rccps_pacm < 30 then RCCPS = '$ 0-30  '; 
else if ct_rccps_pacm < 45 then RCCPS = '$30-45'; 
else if ct_rccps_pacm < 60 then RCCPS = '$45-60 '; 
else RCCPS = '> $60'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big15 all;
 id state county ;
 choro rccps 
/ coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Cotton USDA RCCP State-Triggered Payments'; 
run; 

data big16; set big5; 
state=locstate; county = loccnty; 
ct_rev_cv = ct_rev_totstd / ct_rev_totm; 
ct_wrap_cv = ct_wrap_ppacstd / ct_wrap_ppacm; 
ct_current_cv = ct_current_ppacstd / ct_current_ppacm; 
Risk_Reduction_wrap = (ct_rev_cv - ct_wrap_cv)/ct_rev_cv; 
Risk_Reduction_Current = (ct_rev_cv - ct_current_cv)/ct_rev_cv; 
if Risk_Reduction_wrap = '.' then delete; 
if Risk_Reduction_Current = '.' then delete; 
Risk2 = Risk_Reduction_wrap/Risk_Reduction_Current; 
if Risk2 = '.' then delete; 
proc means; title 'big 16'; 
run; 

data big16x; set big16; 
if Risk2 < 0.98 then Risk2d = ' Current  <  Wrap '; 
else if Risk2 < 1.02 then Risk2d = 'Current = Wrap'; 
else Risk2d = 'Current > Wrap'; 

goptions reset=global gunit=pct border cback=white 
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 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(orange green yellow cyan red)

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation htext=6;

 proc gmap map=maps.uscounty data=big16x all;
 id state county ;
 choro Risk2d / coutline=black levels=3  midpoints=old
 cempty=black missing  ; 

title 'Cotton Risk Reduction of Current Program vs. Wrap Program'; 
run; 

data big30; set big5; 
state=locstate; county = loccnty; 
ct_rev_cv = ct_rev_totstd / ct_rev_totm; 
ct_ncga_cv = ct_ncga_ppacstd / ct_ncga_ppacm; 
ct_current_cv = ct_current_ppacstd / ct_current_ppacm; 
Risk_Reduction_ncga = (ct_rev_cv - ct_ncga_cv)/ct_rev_cv; 
Risk_Reduction_Current = (ct_rev_cv - ct_current_cv)/ct_rev_cv; 
if Risk_Reduction_ncga = '.' then delete; 
if Risk_Reduction_Current = '.' then delete; 
Risk3 = Risk_Reduction_ncga/Risk_Reduction_Current; 
if Risk3 = '.' then delete; 
run; 

data big31; set big30; 
if Risk3 < 0.98 then Risk3d = ' Current  <  NCGA '; 
else if Risk3 < 1.02 then Risk3d = 'Current = NCGA'; 
else Risk3d = 'Current > NCGA'; 

goptions reset=global gunit=pct border cback=white
 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */

 colors=(orange green yellow cyan red)
 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation htext=6;

 proc gmap map=maps.uscounty data=big31 all;
 id state county ;
 choro Risk3d / coutline=black levels=3  midpoints=old
 cempty=black missing  ; 

title 'Cotton Risk Reduction of Current Program vs. NCGA Program'; 
run; 

data big17; set big5; 
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state=locstate; county = loccnty; 
Payment_difference = ct_current_ppacm - ct_ncga_ppacm; 
if payment_difference = '.' then delete; 
if payment_difference < 0 then Difference = 'Current < NCGA Revenue'; 
*else if payment_difference < 5 then diffdum = 2; 
else Difference = 'Current > NCGA Revenue';; 

goptions reset=global gunit=pct border cback=white
 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */

 colors=(Red green orange yellow cyan  )
 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 

htext=6;

 proc gmap map=maps.uscounty data=big17 all;
 id state county ;
 choro Difference / coutline=black levels=2  midpoints=old  
 cempty=black missing  ; 

title 'Cotton Average Current Program Payments - NCGA Revenue Proposal'; 
run; 

data big18; set big4; 
state=locstate; county = loccnty; 
if ct_tier1_indem_pac ne '.'; 
if ct_tier1_indem_pac < 25 then BRP = '$ 0-25/ac'; 
else if ct_tier1_indem_pac < 50 then BRP = '$25-50/ac'; 
else if ct_tier1_indem_pac < 75 then BRP = '$50-75/ac'; 
else BRP = '>$75/ac'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=1 fontres=presentation 
htext=6;

 proc gmap map=maps.uscounty data=big18 all;
 id state county ;
 choro BRP
 / coutline=black levels=3 midpoints=old
 cempty=black missing  ; 

title 'Cotton Average NCGA BRP Payment'; 
run; 

data big19; set big4; 
state=locstate; county = loccnty; 
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if ct_tier2_indem_pac ne '.'; 

if ct_tier2_indem_pac < 25 then RCCP = '$ 0-25/ac'; 
else if ct_tier2_indem_pac < 50 then RCCP = '$26-49/ac'; 
else if ct_tier2_indem_pac < 75 then RCCP= '$50-75/ac'; 
else RCCP = '> $75/ac'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=5;

 proc gmap map=maps.uscounty data=big19 all;
 id state county ;
 choro rccp 
/ coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Cotton Average NCGA RCCP Payment'; 
run; 

data big21; set big5; 
state=locstate; county = loccnty; 
if NCGA_PACm ne '.'; 
if NCGA_PACm < 40 then NCGA = '$ 0-40 '; 
else if NCGA_PACm < 80 then NCGA = '$40-80'; 
else if NCGA_PACm < 120 then NCGA= '$80-120'; 
else NCGA = '> $120'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big21 all;
 id state county ;
 choro NCGA
 / coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'NCGA Average Payments'; 
run; 

data big22; set big5; 
state=locstate; county = loccnty; 
if wrap_PACm ne '.'; 
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if wrap_PACm < 40 then Wrap = '$ 0-40 '; 
else if wrap_PACm < 80 then Wrap = '$40-80'; 
else if wrap_PACm < 120 then Wrap= '$80-120'; 
else Wrap = '> $120'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big22 all;
 id state county ;
 choro wrap 
/ coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Wrap Average Payments'; 
run; 

/* 
PROC EXPORT DATA= WORK.big7 
OUTFILE= "u:\Research Project\Output.xls" 
DBMS=EXCEL2000 REPLACE; 
RUN; 
PROC EXPORT DATA= WORK.big5 
OUTFILE= "u:\Research Project\Output.xls" 
DBMS=EXCEL2000 REPLACE; 
RUN; 
PROC EXPORT DATA= WORK.big4 
OUTFILE= "u:\Research Project\CottonOutput.xls" 
DBMS=EXCEL2000 REPLACE; 
run; 
*/ 
PROC EXPORT DATA= WORK.big7 
OUTFILE= "C:\Documents and Settings\admin\Desktop\F Drive\Research 
Project\CottonOutput.xls" 
DBMS=EXCEL2000 REPLACE; 
RUN; 
PROC EXPORT DATA= WORK.big5 
OUTFILE= "C:\Documents and Settings\admin\Desktop\F Drive\Research 
Project\CottonOutput.xls" 
DBMS=EXCEL2000 REPLACE; 
RUN; 
PROC EXPORT DATA= WORK.big4 
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OUTFILE= "C:\Documents and Settings\admin\Desktop\F Drive\Research 
Project\CottonOutput.xls" 
DBMS=EXCEL2000 REPLACE; 
RUN; 
quit; 

dm log 'clear' output ; 
dm output 'clear' output; 

LIBNAME sd2 'C:\Documents and Settings\admin\Desktop\F Drive\research project'; 
*LIBNAME sd2 'u:\research project'; 

options nocenter; 

/* data yieldf takes the yield history for each county and organizes it 
into one data set keeping certain variables.  Used to sort a data set.  This 
will be used to get a farm yield per county*/ 
DATA yieldcf;  set sd2.sb_scaler; 
fpred06 =cpred06; 
*if locstate =28; *mississippi; 
*if loccnty = 11; 
*if locstate < 99; *excludes total; 
keep locstate loccnty cyield scaler fyield crpyr fpred06; 
*keep the state name, county name, fyield, year, and predicted value for 06; 
proc sort; by locstate crpyr; 
proc means;  title 'cyield and fyield data'; 
*proc print; 
run; 
/**************************************************/ 
data styield1; set sd2.sb_styld1pt; 
if locstate < 99; 
stpred06=pred06; 
keep locstate crpyr styield stpred06 ; 
proc sort; by locstate crpyr; 
proc means;  title 'st yield data'; 
*proc print; 
run; 
proc means;  title 'merged farm county state yield data'; 
*proc print; 
run; 

data yldscf; merge styield1 yieldcf; 
by locstate crpyr; 
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/********** cost data  ***********************/ 
data cost1; set sd2.cost7505; 

/*Proc import datafile = 'd:\saswork\policy model\data\cost7505.sas' 
********** to keep just Soybean  ****************/ 
if crop_reg eq 'sb_d' or crop_reg eq 'sb_se' or crop_reg eq 'sb_nc' or crop_reg eq 'sb_np'; 
cstpred06 =pred06; 

proc sort; by locstate crpyr; 
proc print; title 'cost data'; 
run; 

data yldcfcst; merge cost1 yldscf; 
by locstate crpyr; 

proc sort; by locstate loccnty crpyr; 
run; 
quit; 

/*This will combine the simulated county yield with the simulated farm yield*/ 
DATA yield1;  set yldcfcst ; 
cpred06 = fpred06; 
proc sort; by locstate loccnty; 
proc means;  title 'yield data'; 
proc print; 
run; 

DATA baseac; 
Proc import datafile = 'L:\Sarah\BaseAcres2002.xls' 
dbms=excel out=baseac replace; 

data baseac; set baseac; 
/*The next two equations are making the variable names of the new data 
set to match the names used in the other data sets.*/ 
locstate = floor(fips/1000); /*floor returns the lgst. integer that is less than or equal to the 
argument.*/ 
loccnty = fips - (locstate*1000); 
sbbase = soybean; 
*if locstate = 28;*mississippi; 
*if loccnty = 11; 
sb_direct_rat = 0.76; *amount of land dedicated to Soybean in direct payment; 
sb_ccp_rat = 0.84; *amount of land dedicated to Soybean in counter cylical payments; 
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keep locstate loccnty sbbase sb_direct_rat sb_ccp_rat ; 
proc sort; by locstate loccnty; 
*proc print; title 'base acres data'; 

DATA pltac; 
/*Proc import datafile = 'u:\research project\soybean.2005.Acres.xls' 
dbms=excel out=pltac replace;*/ 
Proc import datafile = 'C:\Documents and Settings\admin\Desktop\F Drive\Research 
Project\soybean.2005.Acres.xls' 
dbms=excel out=pltac replace; 

data pltac; set pltac; 
locstate = StFips; 
loccnty = Cofips; 
sb_plt_ac=planted; 
*if locstate = 28; 
*if loccnty = 11; 
if loccnty < 888; 

keep locstate loccnty sb_plt_ac ; 
proc sort; by locstate loccnty; 
proc print; title 'pltac acres data'; 

data acres2; merge baseac pltac; by locstate loccnty; 
*if locstate= 28; 
*if loccnty = 11; 
proc means; title 'base and planted acres'; 

run; 

DATA yield1;  merge yield1 acres2; 
by locstate loccnty ; 
proc sort; by locstate crpyr; 
proc means;  title 'yield data'; 
*proc print; 
run; 

DATA price1;  set sd2.sbpricept; 
if 2005 > year > 1974; 
*if locstate= 28; 
*if loccnty = 11; 
*if locstate < 99; 
crpyr=year; 

144 



  
 

 
 

 
 
 

 
 

  
 
 

 
 

 
 

 
 

 
  

 
 
 
  

 
 

 
   

 
  

 
 

 
 
 

  
  

  
 

  
 

 
 

 

drop year luscrprice; 
proc sort; by crpyr; 
proc means;  title 'price data'; 
*proc print; 
run; 

DATA usprice1;  set sd2.sbpricept; 
if 2005 > year > 1974; 
if locstate = 99; 
crpyr=year; 
usrat =crrat; 
*keep usrat loccnty crpyr; 
proc sort; by crpyr; 
proc means;  title 'us price data'; 
proc print; 
run; 

data usyield1; set sd2.sb_styld1pt; 
if locstate = 99; 
nyield = styield; 
keep crpyr nyield; 
proc sort; by crpyr; 
proc means;  title 'us yield data'; 
proc print; 
run; 

DATA price2; merge price1 usprice1 usyield1; 
by crpyr; 
proc sort; by locstate crpyr; 
proc means;  title 'price data'; 
*proc print; 
run;

 data comb1; merge yield1 price2; 
by locstate crpyr; 
if locstate < 99; 

proc sort; by locstate loccnty crpyr; 

run; 

data comb2;  set comb1; 
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*if locstate =28; 
*if loccnty = 11; 
drop crprice; 
proc sort; by crpyr; 
proc means;  title 'comb2 data'; 
*proc print; 
run; 

data big; 
locstate=0;   loccnty=0;   crpyr=0;    fyield=0;    crrat=0;  draw =0; 
i = 0;    eprice = 0;  myaprc=0;     sbrev=0; cyield = 0; 

%macro analysis; 

%do randrw1 = 1 %to 500 %by 1;

 data drw1;
 retain Seed_1 0;
 do i=1 to 5;
  call ranuni(Seed_1,X1); 

crpyr=round(29*x1+1975); 
output;

 end; 
run; 

data drw2;  set drw1; 
drop seed_1 ; 
proc sort; by crpyr; 
*proc print; title 'drw2'; 
run; 

data drw3; merge drw2 usprice1; by crpyr; 
if i ne '.'; 

proc sort; by i; 
*proc print; title 'drw3'; 
run; 

data drw4; set drw3; 
if i = 1 then eprice = 6.25; 
if i = 1 then myaprc = eprice*usrat; 
*proc print; title 'drw4'; 
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run; 

data drw5;  set drw4; 
eprice2 = lag(myaprc); 
if i = 2 then eprice = eprice2; 
if i = 2 then myaprc = eprice*usrat; 
*proc print; title 'drw5'; 
run; 

data drw6;  set drw5; 
eprice2 = lag(myaprc); 
if i = 3 then eprice = eprice2; 
if i = 3 then myaprc = eprice*usrat; 

data drw7;  set drw6; 
eprice2 = lag(myaprc); 
if i = 4 then eprice = eprice2; 
if i = 4 then myaprc = eprice*usrat; 

data drw8;  set drw7; 
eprice2 = lag(myaprc); 
if i = 5 then eprice = eprice2; 
if i = 5 then myaprc = eprice*usrat; 
drop eprice2; 
*proc print;  title 'drw8'; 
run; 

data drw9; set drw8; 
/***************** sets the initital price ************************/ 
*if i = 1 then leprice = 0.52; 
drop locstate x1  usrat; 
proc sort;  by crpyr; 

data comb3; merge comb2 drw9; by crpyr; 
if i ne 0; 
draw = &randrw1; 
sbrev = myaprc * fyield; 

/*************** program parms ******************************/ 
aphcl= 0.65; rtier1cl = 0.65; rtier2cl = 0.95; rtier2_cap= 1.0; rtier3cl=0.95; rtier3_cap= 
0.1; 
sb_loan = 5.00; sb_target = 5.80;  sb_direct_rate=0.44; sb_direct_per=0.85; 
sb_ccp_per=0.85; 
sb_etarget = sb_target -sb_direct_rate;mpci_sub = 0.59; 
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tier1cl = 0.70; tier2cl = 1.00; tier2_cap= 0.30; tier3cl=0.95; tier3_cap= 0.1; 
/*************** program parms ******************************/ 

sb_aph_indem_pac =mpci_sub*eprice*max(0,aphcl*fpred06-fyield); 
enet = eprice*fpred06-cstpred06; 
rnetguar = enet - (1-rtier1ct)*abs(ent); 
netguar= enet-(1-tier1cl)*abs(enet); 
net = myaprc*fyield-scost; 

sb_tier1_indem_pac =max(0,netguar-(myaprc*fyield-scost)); 
sb_tier2_indem_pac =min(tier2_cap*ct_etarget*cpred06, 
max(0,tier2cl*ct_etarget*cpred06-myaprc*cyield)); 
*sb_tier3_indem_pac=min(tier3_cap*ct_etarget*cpred06,max(0,tier3cl*ct_etarget*cpred 
06-myaprc*cyield)); 

sb_rtier1_indem_pac = 0; 
/* revenue variation 
tier1 = individual revenue 65% HRO insurance wrapped around county; ;*/ 
sb_rtier2_indem_pac = max(0,rtier2cl*eprice*cpred06-myaprc*cyield); 
sb_rtier1_indem_pac = 
  mpci_sub*max(0,rtier1cl*max(eprice,myaprc)*fpred06-
((myaprc*fyield)+sb_rtier2_indem_pac) ); 
*sb_tier3_indem_pac=min(tier3_cap*sb_etarget*cpred06,max(0,tier3cl*sb_etarget*cpre 
d06-myaprc*cyield)); 

/* current policy *******/ 
sb_direct_pmt_pac =(fpred06*sb_direct_rat)*sb_direct_per*sb_direct_rate; 
sb_ldp_pac = fyield*max(0, sb_loan-myaprc); 
sb_ccp_pac =  
sb_ccp_per*(fpred06*sb_ccp_rat)*max(0, sb_target-sb_direct_rate-
max(sb_loan,myaprc)); 

/********** USDA PROPOSAL  *************************** 
increased, direct rate, lowered loan rate revenue countercyclical, grp layer*/ 
npred06 = 40.39; 
sb_udirect_rate=0.47; sb_ccp_base_yield = 34.1; sb_grp_cl=0.9; sb_grp_fl=0.7; 
sb_uloan = 4.92; grp_sub = 0.55; 
sb_uldp_pac = fyield*max(0, sb_uloan-myaprc); 
sb_udirect_pmt_pac =(fpred06*sb_direct_rat)*sb_direct_per*sb_udirect_rate; 
sb_rccp_pac = sb_ccp_per*(fpred06*sb_ccp_rat)
  *(max(0, (sb_target-sb_udirect_rate)*npred06-
(max(sb_loan,myaprc)*(nyield*1.01**i))) 

 /sb_ccp_base_yield) ; 
sb_rccps_pac = sb_ccp_per*(fpred06*sb_ccp_rat) 
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  *(max(0, (sb_target-sb_udirect_rate)*stpred06-
(max(sb_loan,myaprc)*(styield*1.01**i))) 

 /(stpred06*sb_direct_rat)) ; 
sb_rccpc_pac = sb_ccp_per*(fpred06*sb_ccp_rat)
  *(max(0, (sb_target-sb_udirect_rate)*cpred06-
(max(sb_loan,myaprc)*(cyield*1.01**i))) 

 /(cpred06*sb_direct_rat)) ; 
sb_grp_indem_pac = grp_sub*eprice*max(0,sb_grp_cl*cpred06-max(sb_grp_fl*cpred06, 
cyield)); 
/********** USDA PROPOSAL  ****************************/ 

*proc sort; 
*by i locstate loccnty; 

run; 

data big; set big comb3; 
if i ne '.'; 
drop seed_1 x1; 
proc means; title 'big'; 
%end; 

%mend analysis; 
%analysis; run; 

data pricesim; set big; 
if locstate ne '.'; 
if i ne 0; 
if I ne '.'; 
proc sort; by i; 
*proc print; title 'price sim '; 
proc means ; by i; 
var eprice myaprc; 
run; 

data big2; set big; 
/*********************** state with no cost data ****************/ 
if locstate = 12 or locstate = 35 or locstate = 51 then delete; 
/*****************************************************************/ 

if locstate ne '.'; 
if i ne 0; 
if I ne '.'; 
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proc sort; by locstate loccnty ; 
proc means; title 'big2 '; 
/*proc means noprint; by locstate loccnty i; 
var myaprc enet net sb_aph_indem_pac sb_tier1_indem_pac sb_tier2_indem_pac  
sb_direct_pmt_pac sb_ldp_pac sb_ccp_pac crrev fyield cyield eprice ; 
output out= big3 mean= myaprcm enetm netm sb_aph_indem_pacm 
sb_tier1_indem_pacm sb_tier2_indem_pacm
 sb_tier3_indem_pacm  sb_direct_pmt_pacm sb_ldp_pacm sb_ccp_pacm sb_revm 
fyieldm cyieldm epricem; 
*/ 
run; 

data big3; set big2; 
proc sort; by locstate loccnty; 

data big4; merge big3 acres2; by locstate loccnty; 
*if fyieldm ne '.'; 
sb_rev_tot   =sbrev* sb_plt_ac; 
sb_aph_indem_tot   =sb_aph_indem_pac* sb_plt_ac; 
sb_tier1_indem_tot   =sb_tier1_indem_pac*sb_plt_ac; 
sb_tier2_indem_tot   = sb_tier2_indem_pac*sb_plt_ac; 
*ct_tier3_indem_tot  = ct_tier3_indem_pacm*ctbase; 
sb_rtier1_indem_tot  =sb_rtier1_indem_pac*sb_plt_ac; 
sb_rtier2_indem_tot  = sb_rtier2_indem_pac*sb_plt_ac; 
*ct_rtier3_indem_tot = ct_tier3_indem_pacm*ctbase; 
sb_direct_pmt_tot    =sb_direct_pmt_pac*sbbase; 
sb_ldp_tot   =sb_ldp_pac * sb_plt_ac; 
sb_udirect_pmt_tot   =sb_udirect_pmt_pac*sbbase; 
sb_uldp_tot  =sb_uldp_pac * sb_plt_ac; 
sb_ccp_tot   =sb_ccp_pac*sbbase; 
sb_rccp_tot =sb_rccp_pac*sbbase; 
sb_rccpc_tot   =sb_rccpc_pac*sbbase; 
sb_rccps_tot  =sb_rccps_pac*sbbase; 
sb_grp_indem_tot   =sb_grp_indem_pac* sb_plt_ac  ; 
sb_current_ppac    =(sb_direct_pmt_tot + sb_ldp_tot + sb_ccp_tot + sb_aph_indem_tot 
+ sb_rev_tot)/sb_plt_ac; 
sb_wrap_ppac     =(sb_direct_pmt_tot + sb_rtier1_indem_tot + sb_rtier2_indem_tot + 
sb_rev_tot)/sb_plt_ac; 
sb_ncga_ppac       =(sb_direct_pmt_tot + sb_tier1_indem_tot + sb_tier2_indem_tot + 
sb_rev_tot)/sb_plt_ac; 
sb_usda_ppac       =(sb_udirect_pmt_tot + sb_uldp_tot + sb_rccp_tot + 
sb_aph_indem_tot + sb_grp_indem_tot + sb_rev_tot)/sb_plt_ac; 
CURRENT_PAC   =sb_ldp_pac + sb_ccp_pac + sb_aph_indem_pac+ 
sb_direct_pmt_pac; 
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wrap_PAC   =sb_direct_pmt_pac + sb_rtier1_indem_pac + sb_rtier2_indem_pac; 
NCGA_PAC  =sb_direct_pmt_pac + sb_tier1_indem_pac + sb_tier2_indem_pac; 
USDA_PAC   =sb_uldp_pac + sb_udirect_pmt_pac + sb_rccp_pac + 
sb_grp_indem_pac + sb_aph_indem_pac; 
*if fyieldm ne '.'; 
/*proc sort; by locstate i; 
proc print;title 'aggregates ';*/ 
proc means n mean std min max sum; title 'aggregates '; 
run; 

*by locstate i; 

proc means; title 'big4'; 
run; 

DATA big5; set big4; 
proc means n mean std; title 'big5'; 
proc means noprint; by locstate loccnty; 
var sbrev sb_current_ppac sb_wrap_ppac sb_ncga_ppac sb_plt_ac sb_usda_ppac  
  sb_rtier1_indem_pac sb_rtier2_indem_pac CURRENT_PAC USDA_PAC 
NCGA_PAC WRAP_PAC sb_rccp_pac  

sb_rccps_pac sb_rccpc_pac sb_grp_indem_pac sb_tier1_indem_pac 
sb_tier2_indem_pac; 

output out= big5  
mean= sb_rev_totm sb_current_ppacm sb_wrap_ppac sb_ncga_ppacm sb_plt_acm 
sb_usda_ppacm
  sb_rtier1_indem_pacm sb_rtier2_indem_pacm CURRENT_PACm USDA_PACm 

NCGA_PACm wrap_PACm sb_rccp_pacm
  sb_rccps_pacm sb_rccpc_pacm sb_grp_indem_pacm sb_tier1_indem_pacm 

sb_tier2_indem_pacm 

std = sb_rev_totstd sb_current_ppacstd sb_wrap_ppacstd sb_ncga_ppacstd sb_plt_acstd 
sb_usda_ppacstd
 sb_rtier1_indem_pacstd sb_rtier2_indem_pacstd CURRENT_PACstd USDA_PACstd 

NCGA_PACstd wrap_PACstd sb_rccp_pacstd
 sb_rccps_pacstd sb_rccpc_pacstd sb_grp_indem_pacstd; 

RUN; 

proc sort; by locstate loccnty; 

data big6; set big5; 
state=locstate; county = loccnty; 
sb_rev_cv = sb_rev_totstd / sb_rev_totm; 
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sb_ncga_cv = sb_ncga_ppacstd / sb_ncga_ppacm; 
sb_wrap_cv = sb_wrap_ppacstd / sb_wrap_ppacm; 
sb_current_cv = sb_current_ppacstd / sb_current_ppacm; 
sb_usda_cv = sb_usda_ppacstd / sb_usda_ppacm; 
Risk_Reduction_NGCA = (sb_rev_cv - sb_ncga_cv)/sb_rev_cv; 
Risk_Reduction_Current = (sb_rev_cv - sb_current_cv)/sb_rev_cv; 
Risk_Reduction_usda = (sb_rev_cv - sb_usda_cv)/sb_rev_cv; 
if Risk_Reduction_usda = '.' then delete; 
if Risk_Reduction_Current = '.' then delete; 
Risk = Risk_Reduction_usda/Risk_Reduction_Current; 
if Risk < 0.95 then Difference = 'Current Risk Red. > USDA  '; 
else if risk < 1.05 then Difference = 'Current Risk Red. = USDA'; 
else Difference = 'Current Risk Red. < USDA'; 
proc means mean min max sum; title 'risk red.'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(red orange green yellow cyan)

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation htext=6;

 proc gmap map=maps.uscounty data=big6 all;
 id state county ;
 choro Difference / coutline=black levels=3  midpoints=old  
 cempty=black missing  ; 

title 'Soybean Risk Reduction of Current Program vs. USDA'; 

run; 

data big8; set big5; 
state=locstate; county = loccnty; 
if sb_rtier1_indem_pacm ne '.'; 
if sb_rtier1_indem_pacm < 3 then RAWrap = '$ 0-3 '; 
else if sb_rtier1_indem_pacm < 6 then RAWrap = '$3-6'; 
else if sb_rtier1_indem_pacm < 9 then RAWrap = '$6-9'; 
else RAWrap = '>$9'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=1 fontres=presentation 
htext=6;

 proc gmap map=maps.uscounty data=big8 all;
 id state county ;
 choro RAWRAP
 / coutline=black levels=3 midpoints=old 
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 cempty=black missing  ; 
title 'Soybean 65% RA-HPO Wrap around County Revenue Design'; 
run; 
data big9; set big5; 
state=locstate; county = loccnty; 
if sb_rtier2_indem_pacm ne '.'; 

if sb_rtier2_indem_pacm < 5 then tier2 = '$ 0-5 '; 
else if sb_rtier2_indem_pacm < 10 then tier2 = '$5-10'; 
else if sb_rtier2_indem_pacm < 15 then tier2= '$10-15'; 
else tier2 = '> $15'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big9 all;
 id state county ;
 choro tier2
 / coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Soybean 95% County Revenue Guarantee  '; 
run; 

data big10; set big5; 
state=locstate; county = loccnty; 
if current_pacm ne '.'; 

if CURRENT_PACm < 12 then Current = '$ 0-12'; 
else if CURRENT_PACm < 24 then Current = '$12-24'; 
else if CURRENT_PACm < 36 then Current= '$24-36'; 
else Current = '> $36'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big10 all;
 id state county ;
 choro current
 / coutline=black levels=4 midpoints=old 
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 cempty=black missing  ; 
title 'Soybean Combined LDP, Counter-Cylical, Direct, and Crop Insurance Payments'; 
run; 

data big11; set big5; 
state=locstate; county = loccnty; 
if usda_pacm ne '.'; 

if USDA_PACm < 12 then USDA = '$ 0-12'; 
else if USDA_PACm < 24 then USDA = '$12-24'; 
else if USDA_PACm < 36 then USDA = '$24-36'; 
else USDA = '> $36'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big11 all;
 id state county ;
 choro usda
 / coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Soybean USDA Proposal'; 
run; 

data big12; set big5; 
state=locstate; county = loccnty; 
if sb_rccp_pacm ne '.'; 
if sb_rccp_pacm < 1 then RCCP = '$ 0-1  '; 
else if sb_rccp_pacm < 2 then RCCP = '$1-2'; 
else if sb_rccp_pacm < 3 then RCCP = '$2-3 '; 
else RCCP = '> $3'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big12 all;
 id state county ;
 choro rccp 
/ coutline=black levels=4 midpoints=old 
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 cempty=black missing  ; 
title 'Soybean USDA RCCP Payments'; 
run; 

data big13; set big5; 
state=locstate; county = loccnty; 
if sb_grp_indem_pacm ne '.'; 
if sb_grp_indem_pacm < 2 then GRP = '$ 0-2  '; 
else if sb_grp_indem_pacm < 4 then GRP = '$2-4'; 
else if sb_grp_indem_pacm < 6 then GRP = '$4-6 '; 
else GRP = '> $6'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big13 all;
 id state county ;
 choro GRP
 / coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Soybean USDA GRP Layer Payments'; 
run; 

data big14; set big5; 
state=locstate; county = loccnty; 
if sb_rccpc_pacm ne '.'; 
if sb_rccpc_pacm < 1 then RCCPC = '$ 0-1  '; 
else if sb_rccpc_pacm < 2 then RCCPC = '$1-2'; 
else if sb_rccpc_pacm < 3 then RCCPC = '$2-3 '; 
else RCCPC = '> $3'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big14 all;
 id state county ;
 choro rccpc 
/ coutline=black levels=4 midpoints=old
 cempty=black missing  ; 
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title 'Soybean USDA RCCP County-Triggered Payments'; 
run; 

data big15; set big5; 
state=locstate; county = loccnty; 
if sb_rccps_pacm ne '.'; 
if sb_rccps_pacm < 1 then RCCPS = '$ 0-1 '; 
else if sb_rccps_pacm < 2 then RCCPS = '$1-2'; 
else if sb_rccps_pacm < 3 then RCCPS = '$2-3 '; 
else RCCPS = '> $3'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big15 all;
 id state county ;
 choro rccpS
 / coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Soybean USDA RCCP State-Triggered Payments'; 
run; 

data big16; set big5; 
state=locstate; county = loccnty; 
sb_rev_cv = sb_rev_totstd / sb_rev_totm; 
sb_wrap_cv = sb_wrap_ppacstd / sb_wrap_ppacm; 
sb_current_cv = sb_current_ppacstd / sb_current_ppacm; 
Risk_Reduction_wrap = (sb_rev_cv - sb_wrap_cv)/sb_rev_cv; 
Risk_Reduction_Current = (sb_rev_cv - sb_current_cv)/sb_rev_cv; 
if Risk_Reduction_wrap = '.' then delete; 
if Risk_Reduction_Current = '.' then delete; 
Risk2 = Risk_Reduction_wrap/Risk_Reduction_Current; 
if Risk2 = '.' then delete; 

data big16x; set big16; 
if Risk2 < 0.98 then Risk2d = ' Current  <  Wrap '; 
else if Risk2 < 1.02 then Risk2d = 'Current = Wrap'; 
else Risk2d = 'Current > Wrap'; 

goptions reset=global gunit=pct border cback=white
 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */ 
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 colors=(orange green yellow cyan red)
 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation htext=6;

 proc gmap map=maps.uscounty data=big16x all;
 id state county ;
 choro Risk2d / coutline=black levels=3  midpoints=old
 cempty=black missing  ; 

title 'Soybean Risk Reduction of Current Program vs. Wrap Program'; 
run; 

data big30; set big5; 
state=locstate; county = loccnty; 
sb_rev_cv = sb_rev_totstd / sb_rev_totm; 
sb_ncga_cv = sb_ncga_ppacstd / sb_ncga_ppacm; 
sb_current_cv = sb_current_ppacstd / sb_current_ppacm; 
Risk_Reduction_ncga = (sb_rev_cv - sb_ncga_cv)/sb_rev_cv; 
Risk_Reduction_Current = (sb_rev_cv - sb_current_cv)/sb_rev_cv; 
if Risk_Reduction_ncga = '.' then delete; 
if Risk_Reduction_Current = '.' then delete; 
Risk3 = Risk_Reduction_ncga/Risk_Reduction_Current; 
if Risk3 = '.' then delete; 
run; 

data big31; set big30; 
if Risk3 < 0.98 then Risk3d = ' Current  <  NCGA '; 
else if Risk3 < 1.02 then Risk3d = 'Current = NCGA'; 
else Risk3d = 'Current > NCGA'; 

goptions reset=global gunit=pct border cback=white
 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */

 colors=(orange green yellow cyan red)
 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation htext=6;

 proc gmap map=maps.uscounty data=big31 all;
 id state county ;
 choro Risk3d / coutline=black levels=3  midpoints=old
 cempty=black missing  ; 

title 'Soybean Risk Reduction of Current Program vs. NCGA Program'; 
run; 

data big17; set big5; 
state=locstate; county = loccnty; 
Payment_difference = sb_current_ppacm - sb_ncga_ppacm; 
if payment_difference = '.' then delete; 
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if payment_difference < 0 then Difference = 'Current < NCGA Revenue'; 
*else if payment_difference < 5 then diffdum = 2; 
else Difference = 'Current > NCGA Revenue';; 

goptions reset=global gunit=pct border cback=white
 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */

 colors=(Red green orange yellow cyan  )
 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 

htext=6;

 proc gmap map=maps.uscounty data=big17 all;
 id state county ;
 choro Difference / coutline=black levels=2  midpoints=old  
 cempty=black missing  ; 

title 'Soybean Average Current Program Payments - NCGA Revenue Proposal'; 
run; 

data big18; set big4; 
state=locstate; county = loccnty; 
if sb_tier1_indem_pac ne '.'; 
if sb_tier1_indem_pac < 20 then BRP = '$ 0-20/ac'; 
else if sb_tier1_indem_pac < 40 then BRP = '$20-40/ac'; 
else BRP = '>$40/ac'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=1 fontres=presentation 
htext=6;

 proc gmap map=maps.uscounty data=big18 all;
 id state county ;
 choro BRP
 / coutline=black levels=3 midpoints=old
 cempty=black missing  ; 

title 'Soybean Average NCGA BRP Payment'; 
run; 

data big19; set big4; 
state=locstate; county = loccnty; 
if sb_tier2_indem_pac ne '.'; 

if sb_tier2_indem_pac < 1 then RCCP = '$ 1/ac'; 
else if sb_tier2_indem_pac < 2 then RCCP = '$2/ac'; 
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else if sb_tier2_indem_pac < 3 then RCCP= '$3/ac'; 
else RCCP = '> $3/ac'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=5;

 proc gmap map=maps.uscounty data=big19 all;
 id state county ;
 choro rccp 
/ coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Soybean Average NCGA RCCP Payment'; 
run; 

data big21; set big5; 
state=locstate; county = loccnty; 
if NCGA_PACm ne '.'; 
if NCGA_PACm < 20 then NCGA = '$ 0-20 '; 
else if NCGA_PACm < 40 then NCGA = '$20-40'; 
else if NCGA_PACm < 60 then NCGA= '$40-60'; 
else NCGA = '> $60'; 
goptions reset=global gunit=pct border cback=white

 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */
 colors=(Red  orange yellow green cyan  )

 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 
htext=3;

 proc gmap map=maps.uscounty data=big21 all;
 id state county ;
 choro NCGA
 / coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'NCGA Average Payments'; 
run; 

data big22; set big5; 
state=locstate; county = loccnty; 
if wrap_PACm ne '.'; 
if wrap_PACm < 20 then Wrap = '$ 0-20 '; 
else if wrap_PACm < 40 then Wrap = '$20-40'; 
else if wrap_PACm < 60 then Wrap= '$40-60'; 
else Wrap = '> $60'; 
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goptions reset=global gunit=pct border cback=white
 /*colors=(GRAYDF GRAYA1 GRAY5C GRAY00) */

 colors=(Red  orange yellow green cyan  )
 ctext=black ftext=swiss htitle=4 htext=2 fontres=presentation 

htext=3;

 proc gmap map=maps.uscounty data=big22 all;
 id state county ;
 choro wrap 
/ coutline=black levels=4 midpoints=old
 cempty=black missing  ; 

title 'Wrap Average Payments'; 
run; 

/* 
PROC EXPORT DATA= WORK.big4 
OUTFILE= "u:\Research Project\SoybeanOutput.xls" 
DBMS=EXCEL2000 REPLACE; 
RUN; 
PROC EXPORT DATA= WORK.big5 
OUTFILE= "u:\Research Project\SoybeanOutput.xls" 
DBMS=EXCEL2000 REPLACE; 
RUN; 
PROC EXPORT DATA= WORK.big7 
OUTFILE= "u:\Research Project\SoybeanOutput.xls" 
DBMS=EXCEL2000 REPLACE; 
RUN; 
*/ 
PROC EXPORT DATA= WORK.big4 
OUTFILE= "C:\Documents and Settings\admin\Desktop\F Drive\Research 
Project\SoybeanOutput.xls" 
DBMS=EXCEL2000 REPLACE; 
RUN; 
PROC EXPORT DATA= WORK.big5 
OUTFILE= "C:\Documents and Settings\admin\Desktop\F Drive\Research 
Project\SoybeanOutput.xls" 
DBMS=EXCEL2000 REPLACE; 
RUN; 
PROC EXPORT DATA= WORK.big7 
OUTFILE= "C:\Documents and Settings\admin\Desktop\F Drive\Research 
Project\SoybeanOutput.xls" 
DBMS=EXCEL2000 REPLACE; 
RUN; 
quit; 
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